
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(flracj eSx”khu tk¡p ijh{kk)
fnukad& 08-09-2019

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	^,d jk"Vª&,d jk'ku dkMZ* ;kstuk ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl ;kstuk dks 30 twu] 2022 rd iwjs ns'k esa 
ykxw djus dh ?kks"k.kk dh xbZ gSA

	 2.	 bl ;kstuk ds ekè;e ls jk"Vªh; [kk| lqj{kk 
vfèkfu;e] 2013 ds rgr lHkh yksxksa ds fy;s 
vukt dh miyCèkrk lqfuf'pr dh tk ldsxhA

	 3.	 bl ;kstuk ls oSls yksx ykHkkfUor gksaxs] tks 
thfodk] jks”kxkj ;k fdlh vU; dkj.k ls ,d 
jkT; ls nwljs jkT; esa izokl djrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	 2.	^Ms ”khjks* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ^Ms ”khjks* dh fLFkfr rc mRiUu gksrh gS] tc 
'kgj ds vfèkdka'k uy can gks tkrs gSaA

	 2.	 Hkkjr dh 12 izfr'kr tula[;k igys ls gh ^Ms 
”khjks* dh ifjfLFkfr;ksa esa jg jgh gSA

	 3.	 dsiVkmu 'kgj esa ikuh ds miHkksx dks lhfer 
vkSj izcafèkr djus gsrq ^Ms ”khjks* ds fopkj dks 
is'k fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 3.	^Ñf"k tux.kuk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 nloha Ñf"k tux.kuk ds vuqlkj] Ñf"k esa efgykvksa 
dk ifjpkyu LokfeRo c<+dj o"kZ 2015-16 esa 
yxHkx 14% gks x;k gSA

	 2.	 Ñf"k tux.kuk dk vk;kstu Ñf"k ,oa fdlku 
dY;k.k ea=kky; }kjk fd;k tkrk gSA

	 3.	 o"kZ 1970–71 ls Hkkjr esa Ñf"k tux.kuk izR;sd 
5 o"kZ dh vofèk esa dh tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 4.	^ctV 2019&20* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 dsanzh; ctV 2019–20 esa nks djksM+ ls ik¡p djksM+ 
#i, ds chp vk; okys O;fDr;ksa ds fy;s vk;dj 
ij vfèkHkkj 25% rd c<+k fn;k x;k gSA

	 1.	 Consider the following statements in the context 
of ‘One Nation-One Ration card’ scheme:

	 1.	 It has been declared that this scheme will 
be implemented all over India by 30 June, 
2022.

	 2.	 Through this scheme the availability of 
food grains for all will be ensured under the 
National Food Security Act, 2013.

	 3.	 This plan will be beneficial to those people 
who migrate from one state to another for 
employment.

		  which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only 	 (d)	 1, 2 and 3

	 2.	 Consider the following statements in the context 
of ‘Day Zero’:

	 1.	 The situation of ‘Day Zero’ arises when the 
maximum taps of the city are not functional.

	 2.	 The 12% population of India is already 
living in ‘Day Zero’ situation.

	 3.	 In Capetown city the ‘Day Zero’ was 
proposed to limit and restrict the use of 
water.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 3.	 Consider the following statements in the context 
of ‘Agriculture Census’:

	 1.	 According to the tenth agriculture census 
the operational ownership of women in 
agriculture in 2015-16 has increased to 
approximately 14%.

	 2.	 The agriculture census is organized by 
the Ministry of Agriculture and Farmers 
Welfare.

	 3.	 Agriculture census is conducted in every 5 
years since 1970-71.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 4.	 Consider the following statements in the context 
of ‘Budget 2019-20’:

	 1.	 In central budget 2019-20 the surcharge on 
income tax for those having income between 
two crore to five crore has been increased 
by 25%.
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	 2.	 ljdkj us o"kZ 2019–20 esa ukeek=k thMhih 
fodkl nj 12% jgus dk vuqeku yxk;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 5.	fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 1.	 ewy vfèkdkjksa dks vuqPNsn&32 ds rgr fo'ks"k 
:i ls lajf{kr fd;k x;k gSA

	 2.	 vuqPNsn&44 esa Li"V dgk x;k gS fd jkT; lHkh 
ukxfjdksa ds fy;s leku ukxfjd lafgrk cukus 
dk iz;kl djsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 6.	^foÙk vk;ksx* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 vuqPNsn 280(1) ds rgr micaèk gS fd jk"Vªifr 
}kjk fu;qDr fd;s tkus okys ,d vè;{k vkSj pkj 
vU; lnL;ksa ls feydj foÙk vk;ksx cusxkA

	 2.	 vk;ksx viuh fjiksVZ jk"Vªifr dks lkSairk gS] ftls 
jk"Vªifr }kjk laln ds nksuksa lnuksa esa j[kok;k 
tkrk gSA

	 3.	 foÙk vk;ksx }kjk dh xb± fliQkfj'ksa lykgdkjh 
izo`fÙk dh gksrh gSa] bUgsa ekuuk ;k u ekuuk ljdkj 
ij fuHkZj djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 7.	^efgyk fdlku l'kDrhdj.k ifj;kstuk* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g xzkeh.k fodkl ea=kky; }kjk dk;kZfUor fo'ks"k 
:i ls efgyk fdlkuksa ds fy;s ,d dk;ZØe gSA

	 2.	 ;g nhun;ky vaR;k sn; ;k stuk dk ,d 
mi&?kVd gSA

	 3.	 ;g fdlkuksa gsrq jk"Vªh; uhfr] 2007 ds izkoèkkuksa 
ds vuq:i gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 3 

	 (d)	 dsoy 2 vkSj 3

	 2.	 Government has estimated the nominal 
GDP growth rate to be 12% in year  
2019-20.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 5.	 Consider the following statements:
	 1.	 The fundamental rights have been specially 

protected under article-32.
	 2.	 It has been clearly mentioned in Article-44 

that state will make efforts to make uniform 
civil code for all citizens. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2 

	 6.	 Consider the following statements in the context 
of ‘Finance Commission’:

	 1.	 There is a provision under Article 280(1) 
that finance commission will be constituted, 
consist of a chairman and four other 
members appointed by the president. 

	 2.	 The commission submits its report to the 
president which is handed over to both the 
houses of the parliament by the president.

	 3.	 The recommendations made by the finance 
commission are of advisory nature and it is 
up to the government to approve or reject it.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 7.	 Consider the following statements in the context 
of ‘Mahila Kisan Sashaktikaran Pariyojana’:

	 1.	 This is a programme implemented by 
Ministry of Rural Development that is 
specially for women farmers.

	 2.	 It is a sub-component of Deendayal 
Antyodaya scheme.

	 3.	 It is in accordance with the provisions of 
National policy for farmers, 2007.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only
	 (b)	 1, 2 and 3
	 (c)	 3 only
	 (d)	 2 and 3 only
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	 8.	^jk"Vªh; xzkeh.k fodkl ,oa iapk;rh jkt laLFkku* ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g dsanzh; xzkeh.k fodkl ea=kky; ds varxZr ,d 
Lok;Ùk laxBu gSA

	 2.	 ;g xzkeh.k fodkl ,oa iapk;rh jkt ds {ks=k esa 
'kh"kZ jk"Vªh; mRÑ"V dsanz gSA

	 3.	 ;g laLFkku gSnjkckn (rsyaxkuk) esa fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 9.	10 tqykbZ dks ubZ fnYyh esa f}rh; ̂ Hkkjr&:l j.kuhfrd 

vkfFkZd laokn* dk vk;kstu fd;k x;kA ;g laokn 
fuEufyf[kr esa ls fdu {ks=kksa ij dsafnzr Fkk\

	 1.	 ifjogu volajpuk ,oa izkS|ksfxfd;ksa dk fodkl

	 2.	 Ñf"k ,oa Ñf"k izlaLdj.k {ks=k dk fodkl

	 3.	 y?kq ,oa e>ksys O;olk; dks lg;ksx

	 4.	 fMftVy :ikarj.k ,oa ÚafV;j izkS|ksfxfd;k¡

	 5.	 O;kikj] cSafdax] foÙk ,oa m|ksx {ks=k esa lg;ksx

	 6.	 i;ZVu ,oa dusfDVfoVh

	 	dwV%

	 (a)	 dsoy 1 vkSj 4	 (b)	 dsoy 4, 5 vkSj 6

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2, 3, 4, 5 vkSj 6
	10.	^14ok¡ G–20 f'k[kj lEesyu* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 G–20 dk 14ok¡ f'k[kj lEesyu ubZ fnYyh essa 
vk;ksftr fd;k x;kA

	 2.	 bl lEesyu esa Hkkjrh; izèkkuea=kh us fMftVy 
rduhd ds vfèkdre mi;ksx ds fy;s ^5–I* 
fo”ku dks izLrqr fd;kA

	 3.	 fo”ku ^5–I* lekos'kh] ns'khdj.k] uokpkj] 
volajpuk esa fuos'k rFkk varjkZ"Vªh; lg;ksx dk 
izfrfufèkRo djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	11.	^flYd lexz ;kstuk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g ;kstuk js'ke m|ksx ds fodkl gsrq ,dhÑr 
;kstuk gSA

	 2.	 bl ;kstuk dk mn~ns'; ?kjsyw js'ke dh xq.koÙkk 
vkSj mRikndrk esa lqèkkj djuk gS] rkfd vk;kfrr 
js'ke ij ns'k dh fuHkZjrk de gksA

	 8.	 Consider the following statements in the context 
of ‘National Institute of Rural Development and 
Panchayati Raj’:

	 1.	 It is an autonomous body under the central 
Ministry of Rural Development.

	 2.	 It is a top national centre of excellence in the 
field of rural development and panchayati 
raj sector.

	 3.	 This institution is located in Hyderabad 
(Telangana).

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3 
	 9.	 Second ‘ India- Russia Strategic Economic 

Dialogue’ was organized on 10th July in New delhi. 
This dialogue was focused on which of the 
following sectors?

	 1.	 Development of Transport infrastructure 
and technologies.

	 2.	 Development of Agriculture and Agro-
processing Sector.

	 3.	 Small and Medium Business Support.
	 4.	 Digital Transformation and Frontier 

Technologies.
	 5.	 Cooperation in Trade, Banking, Finance and 

Industry.
	 6.	 Tourism and connectivity.
		  Code:
	 (a)	 1 and 4 only	 (b)	 4, 5 and 6 only
	 (c)	 2 and 3 only	 (d)	 1, 2, 3, 4, 5 and 6
	 10.	 Consider the following statements in the context 

of ‘14th G-20 summit’:
	 1.	 14th G-20 summit was organized in New 

Delhi.
	 2.	 In this summit the Indian prime minister 

presented ‘5-I’ vision for maximum usage 
of digital technology.

	 3.	 Vision ‘5-I’ represents Inclusiveness, 
Indigenisation, Innovation, Investment in 
infrastructure and international cooperation.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only 	 (d)	 1, 2 and 3
	 11.	 Consider the following statements in the context 

of ‘Silk Samagra Scheme’:
	 1.	 This scheme is an integrated scheme for the 

development of silk industry.
	 2.	 It focuses on improving the quality and 

productivity of domestic silk thereby 
reducing the country’s dependence on 
imported silk. 
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	 3.	 Hkkjr esa o"kZ 2017–2020 rd ds fy;s ^flYd 
lexz ;kstuk* ykxw dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	12.	^iQkLVSx* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ,d jsfM;ks fÚDosalh vkbMsafVfiQds'ku dkMZ 
gksrk gS] ftls okgu dh foaM LØhu ij yxk;k 
tkrk gSA

	 2.	 lM+d ifjogu ,oa jktekxZ ea=kky; us bl o"kZ 
1 fnlacj] 2019 ls ns'k ds lHkh jk"Vªh; jktekxks± 
ij fLFkr Vksy Úh Iyktk dh lHkh ysu dks 
^iQkLVSx ysu* ?kksf"kr djus dk fu.kZ; fy;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	13.	^mRd"kZ 2022* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 Hkkjrh; fj”koZ cSad }kjk fofu;eu vkSj i;Zos{k.k 
ra=k dks e”kcwr djus ds mn~ns'; ls cukbZ xbZ ;g 
,d eè;e vofèk dh uhfr gSA

	 2.	 blesa fo'ks"k:i ls Hkfo"; esa fdlh Hkh vU; 
IL–FS Í.k ladV ls cpus ds fy;s dsanzh; cSad 
dh lfØ; Hkwfedk 'kkfey dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	14.	^OgkbV yscy ,Vh,e* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 xSj&cSad laLFkkvksa }kjk lapkfyr ,oa muds 

LokfeRo okys ,Vh,e dks ̂ OgkbV yscy ,Vh,e* 
dgk tkrk gSA

	 2.	 ;g ,Vh,e ykxr dks lk>k djus dhs voèkkj.kk 
ij vkèkkfjr gSA

	 3.	 Hkkjrh; fj”koZ cSad }kjk OgkbV yscy ,Vh,e 
lapkydksa@vkWijsVlZ dks vkjchvkbZ rFkk eqnzk dks"k 
ls Fkksd esa udnh [kjhn dh vuqefr ns nh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 3

	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3 

	 (d)	 1, 2 vkSj 3

	 3.	 ‘Silk samagra scheme’ has been launched in 
India for 2017-2020.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 12.	 Consider the following statements in the context 
of ‘FASTag’: 

	 1.	 It is a radio frequency identification card, 
which is placed on the wind screen of the 
vehicle.

	 2.	 The Ministry of Road Transport and 
Highways has declared all the lanes of toll 
free plazas on the national highways to be 
‘FASTag lanes’ from 1 december, 2019. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 13.	 Consider the following statements in the context 
of ‘Utkarsh 2022’:

	 1.	 It is a medium- term strategy policy made 
by RBI in order to strengthen the regulations 
and supervision system.

	 2.	  The envolvement of central bank is sought 
in this, mainly to avoid other IL- FS loan 
crisis in future.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 14.	 Consider the following statements in the context 
of ‘White-Label ATM’:

	 1.	 ATM’s operated and owned by non- bank 
entities are called ‘White Label ATMs’.

	 2.	 This ATM is based on the concept of sharing 
the cost.

	 3.	 Reserve Bank of India has permitted the 
ATM operators to purchase wholesale cash 
from RBI and Monetary Fund.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 3 only
	 (b)	 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	15.	^vko';d oLrq vfèkfu;e] 1955* ds lanHkZ esa 
fuEufyf[kr dFkuksa esa ls dkSu&lk lgh ugha gS\

	 (a)	 bl vfèkfu;e dks o"kZ 1955 esa ykxw fd;k x;k 
FkkA

	 (b)	 ;g vfèkfu;e lHkh miHkksDrkvks a ds fy;s 
vko';d@vfuok;Z oLrqvk s a dh miyCèkrk 
lqfuf'pr djrk gSA

	 (c)	 bl vfèkfu;e esa lHkh 'kfDr;k¡ dsanz ljdkj dks 
izkIr gSaA

 	 (d)	 ;g vfèkfu;e èkks[kkèkM+h djus okys O;kikfj;ksa ls 
Hkh miHkksDrkvksa dks lqj{kk iznku djrk gSA

	16.	^Hkkjrh; varnsZ'kh; tyekxZ izkfèkdj.k* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 varnsZ'kh; tyekxks± ds fodkl vkSj fofu;eu gsrq 
Hkkjrh; varnsZ'kh; tyekxZ izkfèkdj.k dh LFkkiuk 
27 vDVwcj] 1986 dks dh xbZA

	 2.	 gky gh esa HkwVku vkSj ckaXykns'k ds eè; O;kikj 
dks lgt cukus ds mn~ns'; ls Hkkjr us czãiq=k 
unh esa vkokxeu ds fy;s ,d tyekxZ [kksyk gSA

	 3.	 ;g izFke volj gS] tc fdlh Hkkjrh; tyekxZ 
dk mi;ksx nks ns'kksa ds chp eky ds ikjxeu ds 
fy;s fd;k tk jgk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	17.	^vijkèk ,oa vkijkfèkd VªSfdax usVodZ vkSj iz.kkyh* 

(lh-lh-Vh-,u-,l-) ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 gky gh esa x`g ea=kky; us jk"Vªh; Lrj ij bl 
lqfoèkk dks ns'k ds lHkh Fkkuksa esa ykxw fd;k gSA

	 2.	 ;g iz.kkyh o"kZ 2009 esa jk"Vªh; bZ&xous±l Iyku 
ds rgr LFkkfir ,d fe'ku eksM izkstsDV gSA

	 3.	 ;g iz.kkyh Hkkjr ljdkj ds j{kk ea=kky; ds 
varxZr dk;Z djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	18.	^us'kuy baVsfytsal fxzM (usVfxzM)* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g lafnXèk vkradokfn;ksa dks VSªd djus vkSj 

vkradoknh geyksa dks jksdus esa fofHkUu [kqfiQ;k 
,oa izorZu ,tsafl;ksa dh lgk;rk djrh gSA

	 2.	 ;g fcx MkVk vkSj ,ukfyfVDl tSlh rduhdksa 
dk mi;ksx djrs gq, MkVk dh cM+h ek=kk dk 
vè;;u ,oa fo'ys"k.k djrh gSA

	 15.	 Which of the following statement is not correct in 
the context of ‘Essential Commodities Act, 1955’?

	 (a)	 This act was enacted in the year 1955.
	 (b)	 This act ensures the availability of essential 

commodities for all the consumers.
	 (c)	 Under this act all the powers reside in central 

government.
	 (d)	 This act also protects the consumers from 

fraud traders.

	 16.	 Consider the following statements in the context 
of ‘Inland Waterways Authority of India’:

	 1.	 Inland Waterways Authority of India 
was established on 27th oct, 1986 for the 
development and regulation of inland 
waterways.

	 2.	 Recently with the aim of facilitating trade 
between Bhutan and Bangladesh, India has 
opened a water route in the Bhramaputra 
river.

	 3.	 This is the first time when Indian waterways 
is being used for transportation of goods 
between two countries.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 17.	 Consider the following statements in the context 
of ‘Crime and Criminal Tracking Network and 
System’ (CCTNS):

	 1.	 The Ministry of Home affairs has recently 
implemented this scheme on the national 
level in all police stations.

	 2.	 This system is a Mission mode project 
established under the National E- 
governance plan 2009.

	 3.	 This system functions under the Ministry of 
Defence, Government of India. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b) 	 3 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 18.	 Consider the following statements with reference 
to National Intelligence Grid (NATGRID):

	 1.	 This assists various intelligence and 
enforcement agencies in tracking suspected 
terrorists and counter terrorist attacks.

	 2.	 While using the technologies like Big Data 
and analytics, it study and analyse the huge 
amounts of data.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	19.	^dkys'oje~ fyÝV flapkbZ ifj;kstuk* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 nqfu;k dh lcls cM+h dkys'oje~ eYVh&LVst 
fyÝV flapkbZ ifj;kstuk dk yksdkiZ.k gky gh esa 
vkaèkz izns'k ds eq[;ea=kh }kjk fd;k x;kA

	 2.	 bl ifj;kstuk ds rgr xksnkojh unh dk ikuh 
leqnzry ls 100 ehVj fyÝV dj esfMxM~Mk ckaèk 
rd igq¡pk;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	20.	^jk"Vªh; tk¡p ,tsalh@jk"Vªh; vUos"k.k vfHkdj.k (la'kksèku) 

fcy] 2019* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g foèks;d jk"Vªh; tk¡p ,tsalh vfèkfu;e] 2008 
esa la'kksèku djrk gSA

	 2.	 ;g la'kksèku foèks;d vuqlwfpr vijkèkksa dh 
lquokbZ gsrq fo'ks"k U;k;ky;ksa dh LFkkiuk dh 
vuqefr nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	21.	nqfu;k dk lcls Å¡pk ekSle dsanz fuEufyf[kr esa ls 

fdl ioZr f'k[kj ij LFkkfir fd;k x;k gS\

	 (a)	 ekmaV ,ojsLV	 (b)	 xq#f'k[kj

	 (c)	 uanknsoh 	 (d)	 edkyw
	22.	oSf'od cgqvk;keh xjhch lwpdkad] 2019 dh fjiksVZ 

ds vuqlkj Hkkjr dk fuEufyf[kr esa ls dkSu&lk jkT; 
^cgqvk;keh xjhch* dks lcls rs”kh ls gVkus okyk 
jkT;  gS\

	 (a)	 fcgkj	 (b)	 >kj[kaM

	 (c)	 mÙkj izns'k 	 (d)	 flfDde
	23.	^xks Vªkbcy dSaisu* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g dSaisu dsanzh; tutkfr dk;Z ea=kky; ds varxZr 
VªkbCl bafM;k }kjk ykWUp fd;k x;k gSA

	 2.	 VªkbiQsM }kjk vk;ksftr bl dk;ZØe dk mn~ns'; 
tutkrh; mRiknksa dks c<+kok nsus ds fy;s fofHkUu 
laxBuksa ds lkFk le>kSrk vkSj lg;ksx djuk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 19.	 Consider the following statements in the context 
of ‘Kaleshwaram lift irrigation project’:

	 1.	 The world’s biggest Kaleshwaram 
Multistage lift irrigation project was 
launched recently by the Chief minister of 
Andhra Pradesh.

	 2.	 Under this project the water of Godavari 
river will be lifted 100 m. above from the 
sea level and will be supplied to Medigadda 
dam.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 20.	 Consider the following statements in the context 
of ‘National Investigation Agency (amendment) 
Bill, 2019’:

	 1.	 This bill amends the national investigation 
agency act, 2008.

	 2.	 This amendment bill permits the 
establishment of special courts for the 
hearing of uninformed crimes.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 21.	 World’s highest  weather station is established on 
which of the following mountain peak? 

	 (a)	 Mount Everest 	 (b)	 Gurushikhar
	 (c)	 Nandadevi	 (d)	 Makalu

	 22.	 According to the Global Multidimensional Poverty 
Index, 2019 which of the following states of India 
is the state of removing multidimensional poverty 
rapidly?

	 (a)	 Bihar 	 (b)	 Jharkhand
	 (c)	 Uttar Pradesh	 (d)	 Sikkim

	 23.	 Consider the following statements in the context 
of ‘Go Tribal Campaign’:

	 1.	 This campaign has been launched by Tribes 
India under Central Ministry of Tribal 
Affairs. 

	 2.	 The objective of this programme initiated 
by Trifed is to encourage tribal products 
through agreements and cooperation with 
various organizations.
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	 3.	 VªkbiQsM us xzkeh.k fodkl psruk laLFkk] ckM+esj 
ds lkFk Hkh le>kSrk fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	24.	uhfr vk;ksx us 25 twu] 2019 dks ubZ fnYyh esa ^LoLFk 

jkT;] izxfr'khy Hkkjr* ds nwljs laLdj.k dh fjiksVZ tkjh 
dhA bl fjiksVZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bl fjiksVZ esa mÙkj izns'k dks igyk rFkk dsjy 
dks vafre LFkku feyk gSA

	 2.	 ;g fjiksVZ fo'o cSad dh rduhdh lgk;rk rFkk 
LokLF; o ifjokj dY;k.k ea=kky; ds lg;ksx 
ls rS;kj dh xbZ gSA

	 3.	 bl fjiksVZ esa 2014–15 ls 2015–16 ds nkSjku 
jkT;ksa vkSj dsanz'kkflr izns'kksa ds okf"kZd izn'kZu 
dk vkdyu fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	25.	^gsuys ikliksVZ lwpdkad* ds lanHkZ esa fuEUkfyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bl lwpdkad esa dqy 199 ikliksVks± vkSj 227 

NksVs&cM+s ns'kksa dks 'kkfey fd;k x;k gSA

	 2.	 bl lwpdkad esa Hkkjr ds ikliksVZ dks 86ok¡ LFkku 
izkIr gqvk rFkk Hkkjr dk eksfcfyVh Ldksj 58 
jgkA

	 3.	 189 ds eksfcfyVh Ldksj ds lkFk tkiku vkSj 
flaxkiqj bl lwpdkad esa lcls 'kh"kZ LFkku ij gaSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	26.	^lrr~ uhyh vFkZO;oLFkk lEesyu* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g lEesyu uhyh vFkZO;oLFkk fo"k; ij vk;ksftr 

fd;k tkus okyk igyk lEesyu gSA

	 2.	 bldk vk;kstu dsU;k dh jktèkkuh uSjksch esa 
dukMk rFkk tkiku ds lg;ksx ls fd;k x;kA

	 3.	 uhyh vFkZO;oLFkk ls rkRi;Z ,slh vFkZO;oLFkk ls 
gS] tks izR;{k vFkok vizR;{k :i ls lkxjksa rFkk 
egklkxjksa ls tqM+h gksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3

	 3.	 Trifed has also made an agreement with 
Gramin Vikas evam Chetna Sansthan, 
Barmer.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b)  	1 and 2 only
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3
	 24.	 NITI Aayog released the report of second edition 

of ‘Healthy States, Progressive India’in New Delhi 
on 25 June, 2019. Consider the following 
statements in the context of this report:

	 1.	 Uttar Pradesh has been placed on the first 
rank and Kerela has been placed on the last 
rank in this report.

	 2.	 This report has been prepared with the 
technical assistance of the world bank and 
in collaboration of Ministry of Health and 
Family welfare.

	 3.	 In this report the annual performance of 
States and Union Terrotories has been 
calculated during the Year 2014-15 to 
2015‑16.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 25.	 Consider the following statements in the context 

of ‘Henley Passport Index’:
	 1.	 This index includes total 199 passports and 

227 big and small countries.
	 2.	 Indian Passport was ranked 86th in this 

Index and its mobility score was 58.
	 3.	 Japan and Singapore topped in this index 

with a score of 189.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 26.	 consider the following statements in the context 

of ‘Sustainable Blue Economy Conference’:
	 1.	 This conference is first of its kind to be held 

on the subject of Blue Economy.
	 2.	 It was organised in collaboration of Canada 

and Japan in Nairobi, the capital of Kenya.
	 3.	 Blue Economy refers to an economy that is 

directly or indirectly connected to seas and 
oceans.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	27.	^varjkZ"Vªh; foÙkh; lsok dsanz izkfèkdj.k foèks;d] 2019* 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blds varxZr dsanzh; eaf=keaMy us Hkkjr esa 
varjkZ"Vªh; foÙkh; lsok dsanzksa ds rgr lHkh foÙkh; 
lsokvksa dks fofu;fer djus ds fy;s ,d ,dhÑr 
izkfèkdj.k dh LFkkiuk dks ea”kwjh ns nh gSA

	 2.	 Hkkjr dk igyk varjkZ"Vªh; foÙkh; lsok dsanz 
egkjk"Vª ds eqacbZ esa LFkkfir fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	28.	^vkbZ-lh-lh fØdsV fo'o di&2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fo'o di jkmaM jkWfcu i¼fr ij [ksyk x;k]
ftlesa Vhesa vkil esa ,d&nwljs ds lkFk eSp 
[ksyrh gSaA

	 2.	 ;g ik¡pok volj Fkk] tc ;g VwukZesaV baXySaM 
vkSj osYl esa vk;ksftr fd;k x;kA

	 3.	 bl VwukZesaV esa baXySaM dks fotsrk ?kksf"kr fd;k 
x;k] tcfd Hkkjrh; f[kykM+h jksfgr 'kekZ dks 
^Iys;j vkWiQ n VwukZesaV* pquk x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	29.	Hkkjrh; ,FkyhV ^fgek nkl* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ,FkyhV fgek nkl us 21 fnuks a ds vanj 
vyx&vyx varjkZ"Vªh; ,FkysfVDl ehV esa 200 
rFkk 400 ehVj dh nkSM+ esa 6 Lo.kZ ind thrsA

	 2.	 ;g miyfCèk gkfly djus okyh og Hkkjr dh 
izFke efgyk gSaA

	 3.	 fgek nkl dh 200 ehVj dh nkSM+ esa bl lky 
;g igyh izfrLi¼kZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	30.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 eqnzk ds ewY; esa ßkl dk igyk izHkko ;g gksrk 
gS fd vk;kr eg¡xk gks tkrk gS] tcfd fu;kZr 
lLrk gks tkrk gSA

	 2.	 eqnzkLiQhfr dk ekiu rhu izdkj ls fd;k tkrk 
gS& Fkksd ewY; lwpdkad] miHkksDrk ewY; lwpdkad 
,oa jk"Vªh; vk; fopyu fofèkA

	 27.	 Consider the following statements in the context 
of ‘International financial services centers 
Authority Bill, 2019’:

	 1.	 Under this, the union cabinet has approved 
the establishment of an integrated authority 
to regulate all financial services under 
International financial services centres in 
India.

	 2.	 India’s first International financial service 
centre has been established in Mumbai, 
Maharashtra.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 28.	 Consider the following statements in the context 

of ‘ICC Cricket World Cup-2019’:
	 1.	 This World cup was played on Round Robin 

Method, in which the teams play matches 
with each other.

	 2.	 This was the fifth time when this tournament 
was organised in England and Wales.

	 3.	 England was declared the winner of this 
Tournament while Indian player ‘Rohit 
Sharma ‘ was chosen as the ‘Player of the 
Tournament’.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 29.	 Consider the following statements in the context 

of Indian athlete’ Hima Das’:
	 1.	 Athlete Hima Das won 6 gold medals in 200 

and 400 meters race in different International 
Athletics Meet within 21 days.

	 2.	 She is the first women of India to accomplish 
this achievement.

	 3.	 This was the first competition of Hima Das 
this year in 200 meters Race.

		  Which of the statement(s) given abvoe is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 30.	 Consider the following statements:
	 1.	 The first effect of depreciation of money is 

that the import becomes expensive while the 
exports become cheaper.

	 2.	 The survey of Inflation is done by three 
ways viz. wholesale price index, consumer 
price index and national income deviation 
method.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	31.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 HkkSxksfyd n`f"V ls fo'o eas Hkkjr ,slk nwljk cM+k 
ns'k gS] ftlds ikl dksbZ nwljk Vkbe ”kksu ugha  gSA

	 2.	 vkSifuosf'kd 'kkludky ds nkSjku dksydkrk vkSj 
ckWEcs ds Vkbe esa rdjhcu rhu ?kaVs dk varj 
FkkA

	 3.	 ^dkmafly vkWiQ lkbafVfiQd ,aM baMfLVª;y 
fjlpZ&us'kuy fiQftdy yScksjsVjh* }kjk fiNys 
o"kZ ds nkSjku ^Vw Vkbe ”kksu* dk izLrko ikfjr 
fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2 	 (d)	 1, 2 vkSj 3
	32.	^varjkZ"Vªh; Je laxBu* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g la;qDr jk"Vª dh ,d fof'k"V ,tsalh gS] ftlds 

ikl ,d ^f=ki{kh; 'kklh lajpuk* gS rFkk tks 
ljdkjksa] fu;ksDrkvksa ,oa deZpkfj;ksa dk varjkZ"Vªh; 
eap ij izfrfufèkRo djrh gSA

	 2.	 Hkkjr bl laxBu dk laLFkkid lnL; gSA

	 3.	 o"kZ 1969 esa bl laxBu dks izfrf"Br ^ukscsy 
'kkafr iqjLdkj* iznku fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	33.	^uo Hkkjr @ 75 gsrq dk;Zuhfr* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ^uo Hkkjr @ 75 gsrq dk;Zuhfr* uhfr vk;ksx 

}kjk tkjh dh xbZ gS] ftlesa 2022–23 gsrq 
mn~ns';ksa dks ifjHkkf"kr fd;k x;k gSA

	 2.	 ;g 41 egÙoiw.kZ {ks=kksa dk foLr`r fooj.k gS] 
ftlesa igys ls gks pqdh izxfr dks ekU;rk nh 
xbZ gSA

	 3.	 bl nLrkos”k dks pkj [kaMksa& okgd] volajpuk] 
lekos'ku vkSj xous±l esa foHkkftr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2 
	 31.	 Consider the following statements:
	 1.	 In a geographical view, India is the second 

largest country in the world with no other 
time zone.

	 2.	 During the colonial rule there was a 
difference of about 3 hours between Kolkata 
and Bombay.

	 3.	 The proposal of ‘two time zone’ was passed 
by “Council of Scientific and Industrial 
Research-National Physical Laboratory’ 
during last year.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 32.	 With reference to ‘International Labour 
Organisation’ consider the following statements:

	 1.	 It is a specialised agency of the United 
Nations which has a ‘tripartite structure’ 
and represents governments, employers and 
employees on an international platform.

	 2.	 India is a founding member of this 
organisation.

	 3.	 This organisation was awarded with 
prestigious “Nobel peace Prize” in the year 
1969.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 33.	 Consider the following statements in the context 
of ‘The strategy for New India @75’:

	 1.	 ‘The strategy for New India @75’ has 
been issued by Niti Aayog, in which the 
objectives for 2022-23 have been defined.

	 2.	 This is a detailed description of 41 important 
areas in which the previous progress has 
been given recognition.

	 3.	 This document has been divided into 
4 sections viz. Drivers, Infrastructure, 
Inclusion and Governance.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	34.	^ih2ih ysafMax iQeZ* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ih2ih ysafMax ^ØkmMiQafMax* dk ,d izdkj gS]
ftldk mi;ksx ,sls Í.kksa dh olwyh ds fy;s 
fd;k tkrk gS] ftudk Hkqxrku C;kt ds lkFk 
djuk gksA

	 2.	 ih2ih ysafMax iQes± mu {ks=kksa esa foÙk ds oSdfYid 
:iksa dks c<+kok nsrh gSa] tgk¡ vkSipkfjd foÙk 
dk igq¡puk laHko ugha gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	35.	^fo'o vkfFkZd eap okf"kZd lEesyu&2019* ds lanHkZ 

esa fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 bl lEesyu dk fo"k; ^Xykscykb”ks'ku 4.0* FkkA

	 (b)	 bl lEesyu dk vk;kstu nkoksl esa fd;k x;k A

	 (c)	 bl lEesyu esa 115 ns'kksa ds ukxfjd vkSj 
lkaLÑfrd lekt ds laxBu 'kkfey gq,A

 	 (d)	 mi;qZDr lHkhA
	36.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ,d xSj&ykHkdkjh laLFkk gS vkSj bldk 
eq[;ky; tsusok esa gSA

	 2.	 bldh LFkkiuk 1971 esa ;wjksfi;u izcaèku ds uke 
ls izksiQslj DykWl ,e- 'okc us dh FkhA

	 3.	 blds ekè;e ls fo'o ds le{k ekStwn egÙoiw.kZ 
vkfFkZd ,oa lkekftd eqn~nksa ij ifjppkZ dk 
vk;kstu fd;k tkrk gSA

	 	mi;qZDr dFku fuEufyf[kr esa ls fdl laLFkk ls lacafèkr 
gSa\

	 (a)	 fo'o vkfFkZd eap	 (b)	 fo'o O;kikj laxBu

	 (c)	 oYMZ cSad 	 (d)	 varjkZ"Vªh; eqnzk dks"k
	37.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 o"kZ 2020 esa fo'o O;kikj laxBu dk 12ok¡ 
eaf=kLrjh; lEesyu ubZ fnYyh esa vk;ksftr fd;k 
tk,xkA

	 2.	 fo'o O;kikj laxBu fo'o esa O;kikj lacaèkh 
vojksèkksa dks nwj dj oSf'od O;kikj dks c<+kok 
nsus okyk ,d varj&ljdkjh laxBu gS] ftldh 
LFkkiuk 1995 esa ejkds'k lafèk ds rgr dh xbZ 
FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	 34.	 Consider the following statements with reference 
to ‘P2P Lending Firm’:

	 1.	 P2P Lending is a type of ‘crowdfunding’ 
which is used to recover those loans that are 
to be repaid with interest.

	 2.	 P2P Lending Firms promote alternative 
types of finance in those areas, where formal 
access of finance is not possible.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2 

	 35.	 Which of the following statement(s) is/are correct 
in the context of  the ‘world Economic Forum 
Annual Conference-2019’?

	 (a)	 The theme of this conference was 
‘Globalisation 4.0’

	 (b)	 This conference was held in Davos.
	 (c)	 Organisations of civil and cultural societies 

of 115 countries participated in this 
conference.

	 (d)	 All of the above.

	 36.	 Consider the following statements:
	 1.	 This a non-profit Organisation and its 

headquarter is located in Geneva.
	 2.	 It was founded in 1971 by Professor Klaus 

M. Schwab with the name European 
Management.

	 3.	 Discussions are organised on important 
Economic and Social issues of the world 
through this organisation.

		  The above mentioned statement is related to which 
of the following organisation?

	 (a)	 World Economic Forum.
	 (b)	 World Trade organisation.
	 (c)	  World Bank.
	 (d)	 International Monetary Fund.

	 37.	 Consider the following statements:
	 1.	 The 12th Ministerial conference of World 

Trade Organisation will be held in New 
Delhi in the year 2020.

	 2.	 The world Trade organisation is an inter-
Governmental organisation that promotes 
Global trade by removing trade-related 
barriers, which was established in 1995 
under the Marrakesh Treaty.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither1, nor 2 
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	 38.	^vkWDliQSe fjiksVZ* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bl fjiksVZ ds vuqlkj 13.6 djksM+ Hkkjrh;] tks 
ns'k ds lcls xjhc 10 izfr'kr yksxksa ds varxZr 
vkrs gSa] 2004 ls yxkrkj d”kZ esa gSaA

	 2.	 blds vuqlkj Hkkjr dh 'kh"kZ 10 izfr'kr vkcknh 
ds ikl dqy jk"Vªh; èku dk 77.4 izfr'kr fgLlk 
gS] tcfd 'kh"kZ 1 izfr'kr yksxksa ds ikl 51.53 
izfr'kr fgLlk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 39.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ctV 2019–20 esa bljks dh ,d ubZ okf.kfT;d 
'kk[kk U;w Lisl bafM;k fyfeVsM (,u,lvkbZ,y) 
dh LFkkiuk dh vkfèkdkfjd ?kks"k.kk dh xbZA

	 2.	 ,u,lvkbZ,y dh LFkkiuk dk ewy mn~ns'; Hkkjrh; 
varfj{k dk;ZØe dh vkS|ksfxd Hkkxhnkjh dks 
c<+kok nsuk gSA

	 3.	 bljks dh O;kolkf;d bdkbZ&,afVªDl] Hkkjr dh 
varfj{k {kerkvksa ds foi.ku ds fy;s ,d dsanzh; 
,tsalh ds :i esa dk;Z djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1, 2 vkSj 3
	 40.	^dqlqe* ;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bl ;kstuk dk mn~ns'; fdlkuksa ds eè; lkSj 
ÅtkZ ds mi;ksx dks c<+kok nsuk gSA

	 2.	 ^dqlqe* ;kstuk ds varxZr lksyj fctyh mRiknu 
ls gok esa izfro"kZ 27 fefy;u dkcZu MkbZvkWDlkbM 
dh dVkSrh gksxhA

	 3.	 ^dqlqe* ;kstuk ds ?kVd ^,* ds varxZr dqy 
10,000 esxkokV {kerk ds fxzM ls tqM+s lksyj 
fctyh?kj LFkkfir djus dk y{; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 

	 (d)	 1, 2 vkSj 3

	 38.	 With reference to ‘Oxfam Report’, consider the 
following statements:

	 1.	 According to this report, 13.6 crore Indians, 
who make up the poorest 10% of the 
country, have continued to remain in debt 
since 2004.

	 2.	 According to this, India’s top 10% 
population holds 77.4% of the total national  
wealth, while the top 1% holds 51.53% of 
the wealth.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 39.	 Consider the following statements:
	 1.	 In the budget of 2019-20, the official 

announcement of the establishment of a new 
commercial branch of ISRO, named New 
Space India Limited (NSIL), was made.

	 2.	 The basic objective of the establishment of 
NSIL is to promote industrial participation 
of the Indian space Program.

	 3.	 ISRO’s business unit Antrix serves as a 
central agency for marketing of India’s 
space capabilities.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 40.	 with reference to ‘Kusum Scheme’ consider the 
following statements:

	 1.	 This scheme aims to promote the use of 
solar energy among farmers.

	 2.	 Under the ‘Kusum’ scheme solar power 
generation will cut down 27 million carbon 
dioxide every year in the air.

	 3.	 It is targeted to set up a total capacity of 
10,000 megawatt grid connected solar 
power plant under component ‘A’ of the 
‘Kusum’ scheme.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	 41.	gky gh esa i;kZoj.k] ou vkSj tyok;q ifjorZu ea=kky; 
us ^Cyw ÝySx* izek.ku ds fy;s Hkkjr esa 12 leqnz rVksa 
dk p;u fd;k gSA fuEufyf[kr esa ls dkSu&ls leqnz rV 
blesa 'kkfey gSa\

	 1.	 f'kojktiqj (xqtjkr)

	 2.	 Hkksxos (egkjk"Vª)

	 3.	 ehjkekj (xksok)

	 4.	 #'khdksaMk (vkaèkz izns'k)

	 5.	 xksYMsu (vksfM'kk)

	 6.	 jkèkkuxj (vaMeku ,oa fudksckj }hi lewg)

	 	dwV%

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	 dsoy 3, 4 vkSj 5

	 (c)	 dsoy 5 vkSj 6 	 (d)	 1, 2, 3, 4, 5 vkSj 6
	 42.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; ouLifr losZ{k.k }kjk dh xbZ vkWfdZM 
dh igyh O;kid tux.kuk ds vuqlkj] Hkkjr esa 
vkWfdZM iztkfr ;k ofxZdh (Taxes) dh dqy 
la[;k 1, 256 ikbZ xbZ gSA

	 2.	 Hkkjr esa ikbZ tkus okyh dqy vkfdZM iztkfr;ksa 
esa ls yxHkx 60% iztkfr;k¡ ,ihiQkbfVd gSaA

	 3.	 ^,ihiQkbfVd vkWfdZM* pV~Vkuksa ij mxus okys 
ikSèkksa ls viuk iks"k.k izkIr djrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2
	 43.	^lkekU;hÑr varj&ouLifr lwpdkad (,u-Mh-oh-vkbZ-)* 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk dk;Z taxyksa esa ouLifr ds ?kuRo vkSj 
gkFkh tSls 'kkdkgkjh tkuojksa ds Hkkstu dh lgh 
ek=kk dk vuqeku yxkuk gSA

	 2.	 bl lwpdkad dk ouLifr] eq[;r% ?kkl ds ?kuRo 
ds lkFk udkjkRed lg&lacaèk gksrk gSA vFkkZr~] 
tc lwpdkad vfèkd gksrk gS] rc u dsoy ?kuRo 
de gksrk gS] cfYd blds foijhr gks tkrk gSA

	 3.	 ;g oLrqvksa }kjk ijkofrZr izdk'k ds yky vkSj 
fudV vojDr ?kVdksa ds chp varj dh x.kuk 
djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 

	 (d)	 1, 2 vkSj 3

	 41.	 Recently the Ministry of Environment, Forest and 
Climate Change has selected 12 beaches in India 
for ‘Blue Flag’ certification. Which of the 
following beaches are included in it?

	 1.	 Shivrajpur (Gujarat)
	 2.	 Bhogwe (Maharashtra)
	 3.	 Miramar (Goa)
	 4.	 Rushikonda ( Andhra Pradesh)
	 5.	 Golden (Odisha)
	 6.	 Radhanagar (Andaman & Nicobar Islands)

		  Code:
	 (a)	 1, 2 and 3 only	 (b)	 3, 4 and 5 only
	 (c)	 5 and 6 only	 (d)	 1, 2, 3, 4, 5 and 6

	 42.	 Consider the following statements:
	 1.	 According to the first comprehensive census 

of Orchid carried out by the Botanical 
Survey of India, the total number of orchid 
species or taxes found in India is 1,256.

	 2.	 Approximately 60% of total orchid species 
found in india are epiphytic.

	 3.	 Epiphytic Orchids derive their nutrition 
from plants growing on rocks.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 2 only

	 43.	 With reference to the ‘Normalised Differential 
Vegetation Index (NDVI)’ consider the following 
statements:

	 1.	 Its function is to estimate the density of 
vegetation in the forests and the correct 
amount of food required for vegetarian 
animals such as elephants.

	 2.	 The vegetation of this index is mainly, 
negatively corelated with density of the 
grass, that is, when the index is high, not 
only the density is low but also it becomes 
its opposite.

	 3.	 It calculates the difference between red and 
close infrared components of reflected light.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 3 only
	 (d)	 1, 2 and 3
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	 44.	‘DGX–2’ gS&

	 (a)	 vkèkqfud dhVuk'kd

	 (b)	 Ñf=ke cqf¼eÙkk esa nqfu;k dk lcls rs”k lqij 
daI;wVj

	 (c)	 gky gh esa [kkstk x;k ,d varfj{k xSysDlh

 	 (d)	 lcls [krjukd daI;wVj ok;jl
	45.	^jkouk&1* gS&

	 (a)	 Jhyadk dk igyk mixzg

	 (b)	 Jhyadk dk igyk varfj{k LVs'ku

	 (c)	 pedh cq[kkj ds fy;s bZ”kkn dh xbZ ubZ oSDlhu
 	 (d)	 Hkkjr }kjk fodflr Úh Ýykbax jkscksV
	 46.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr esa dqy 37 ewrZ fojklr LFky rFkk 13 

vewrZ lkaLÑfrd fojklr rÙo gSaA

	 2.	 gky gh esa laLÑfr vkSj i;ZVu jkT; ea=kh us 
^lsØsM ekmaVsu ySaMLdsi ,aM gsfjVst :V* dks 
Hkkjr ds fo'o èkjksgj LFkyksa dh vLFkk;h lwph 
esa 'kkfey fd;s tkus dh ?kks"k.kk dh gSA

	 3.	 ;ksx dks vHkh rd vewrZ lkaLÑfrd fojklr rÙo 
esa 'kkfey ugha fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 47.	^dqfV;kV~Ve 'kSyh* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g dsjy dh lcls iqjkuh fFk;sVj ijaijkvksa esa 

ls ,d gSA

	 2.	 blesa 'kSyhc¼ vkSj lafgrkc¼ jaxeaph; Hkk"kk esa 
us=k vfHku; ,oa gLr vfHku; izeq[k gSaA

	 3.	 dqfV;kV~Ve dks ;wusLdks }kjk ekuork dh vewrZ 
lkaLÑfrd fojklr dh izfrfufèk lwph esa o"kZ 
2018 esa 'kkfey fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 48.	^jk"Vªh; fiQYe fojklr fe'ku* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 lwpuk vkSj izlkj.k ea=kky; us bl fe'ku dks o"kZ 

2018 esa ykWUp fd;k FkkA

	 2.	 us'kuy fiQYe vdkbZo vkWiQ bafM;k bl ifj;kstuk 
ds dk;kZUo;u ds fy;s uksMy laLFkk gSA

	 3.	 bl fe'ku dk eq[; mn~ns'; vkèkqfud izkS|ksfxdh 
ds ekè;e ls fiQYeksa dh djhc Ms<+ yk[k jhyksa 
dk laj{k.k rFkk yxHkx 3500 fiQYeksa dk 
fMftVyhdj.k djuk gSA

	 44.	 ‘DGX–2’ is–
	 (a)	 Modern insecticide
	 (b)	 The world’s fastest super computer in 

artificial intelligence.
	 (c)	 A recently discovered space Galaxy
	 (d)	 Most dangerous computer virus.

	 45.	 ‘Ravana-1’ is–
	 (a)	 Srilanka’s first satellite
	 (b)	 Srilanka’s first space station.
	 (c)	 A new vaccine invented for ‘Chamki Fever’.
	 (d)	 Free-flying robot developed by India

	 46.	 Consider the following statements:
	 1.	 There are total 37 tangible heritage sites and 

13 intangible cultural elements in india.
	 2.	 The culture and tourism minister of the 

state has recently announced the inclusion 
of “ sacred mountain landscape and heritage 
route” in the temporary list of world heritage 
sites of India.

	 3.	 Yoga has still not been included in intangible 
cultural elements.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 47.	 With reference to ‘kutiyattam style’ consider the 
following statements:

	 1.	 This is one of the very old theatre traditions 
of kerala.

	 2.	 It features eye acting and hand acting in 
stylized and coded theatrical language.

	 3.	 It was included in the representative list of 
intangible cultural heritage of humanity by 
UNESCO in the year 2018.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 48.	 Consider the following statements in the context 
of ’National Film Heritage Mission’:

	 1.	 Ministry of information and broadcasting 
launched this mission in the year 2018.

	 2.	 National film archive of india is the nodal 
institute for the implementation of this 
project.

	 3.	 The main objective of this mission is to 
preserve about one and a half million reels 
of the films and digitalization of about 3500 
films through modern technology.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 49.	^fyczk* fØIVksdjsalh ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ^fyczk* uked fØIVksdjsalh ykWUp djus dh ?kks"k.kk 
iQslcqd }kjk dh xbZ gSA

	 2.	 bl fØIVksdjsalh dk uke izkphu jkse esa èku dh 
mRifÙk ls iszfjr gS] tgk¡ fyczk flDds <kyus ds 
fy;s iz;qDr o”ku dh ,d bdkbZ gqvk djrh  FkhA

	 3.	 ;g fØIVksdjsalh o"kZ 2022 dh izFke Nekgh esa 
ykWUp dh tk,xhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	50.	^egkRek xkaèkh vkbZVh vkSj ck;ksVsDuksykWth ikdZ* ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ,d lefiZr eqDr O;kikj {ks=k gS] ftldk 
mn~?kkVu dksV Mh vkboj esa fd;k x;k gSA

	 2.	 bl ifj;kstuk dh dqy ykxr yxHkx 20 fefy;u 
vesfjdh MkWyj gS vkSj bls Hkkjr dh lgk;rk ls 
cuk;k tk jgk gSA

	 3.	 eqDr&O;kikj {ks=k fo'ks"k vkfFkZd {ks=k dk gh ,d 
oxZ gS vkSj ;g {ks=k fdlh Hkh izdkj ds lhek 
'kqYd ls eqDr gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1, 2 vkSj 3
	 51.	^cEcy jkscksV* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 uklk dk cEcy uke dk jk sck sV viuh Lo;a 
dh 'kfDr ls mM+ku Hkjus okyk igyk ,LVªk sch 
jk sck sV gSA

	 2.	 ,LVªksch jkscksV fdlh Hkh fn'kk esa xfr dj ldrk gS 
vkSj varfj{k esa fdlh Hkh v{k ij ?kwe ldrk gSA

	 3.	 ,LVªksch ,d Úh&Ýykbax jkscksV flLVe gS] tks 
'kksèkdÙkkZvksa dks 'kwU; xq#Rokd"kZ.k esa ubZ rduhdksa 
dk ijh{k.k djus vkSj varjkZ"Vªh; varfj{k LVs'ku 
ij rSukr varfj{k ;kf=k;ksa ds lkFk fu;fer dke 
djus esa enn djsxkA

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 49.	 Consider the following statements in the context 
of ‘Libra’ crypto currency:

	 1.	 Facbook has announced the launch of a 
crypto currency named ’Libra’.

	 2.	 The name of this crypto currency is inspired 
by the origin of wealth in ancient Rome 
where ‘Libra’ used to be a unit of weight 
that was used to mint coins.

	 3.	 This crypto currency will be launched in the 
first half of the year 2022.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 50.	 With reference to ‘Mahatma Gandhi IT and 
Biotechnology park’, consider the following 
statements:

	 1.	 It is a dedicated Free Trade Area, which has 
been inaugurated in Cote d’lvoire.

	 2.	 The total cost of this project is approximately 
20 million US $ and is being built with the 
help of India.

	 3.	 Free Trade Area is a section of special 
economic zone and it is free from any type 
of custom duties of the area.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 51.	 With reference to ‘Bumble Robot’ consider the 
following  statements:

	 1.	 NASA’s Bumble Robot is the first astrobee 
robot to fly using its own power.

	 2.	 Astrobee Robot can move in any direction 
and rotate on any axis in the space.

	 3.	 Astrobee is a free-flying robot system, 
that will help researchers in testing new 
technologies in zero gravity and perform 
routine work with astronauts stationed on 
the international space station.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 52.	^xzs oqYiQ* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls dkSu&lk 

lgh ugha gS\

	 (a)	 xsz oqYiQ nqfu;k eas lcls cM+h taxyh fcfYy;ksa dh 

iztkfr gSA

	 (b)	 ;g vR;fèkd cqf¼eku vkSj lkekftd tkuoj gS] 

tks mÙkjh xksyk¼Z esa ik;k tkrk gSA

	 (c)	 IUCN us bls jsM fyLV ds varxZr ̂ yhLV dalUMZ* 

dh Js.kh esa j[kk gSA

 	 (d)	 ;g ,d ,dlaxeuh tho gS] tks iztuu ,oa vkokl 

gsrq l?ku >qaMksa esa jgrk gSA

	 53.	^Lons'k n'kZu ;kstuk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bldh 'kq#vkr Hkkjr ljdkj ds i;ZVu ea=kky; 

}kjk tuojh 2018 esa dh xbZA

	 2.	 bl ;kstuk dk mn~ns'; i;ZVu dks vkfFkZd fodkl 

,oa jks”kxkj l`tu ds okgd ds :i esa LFkkfir 

dj Hkkjr dks ,d oSf'od czkaM rFkk fo'oLrjh; 

i;ZVu xarO; ds :i esa LFkkfir djuk gSA

	 3.	 dsanz ljdkj us Lons'k n'kZu ;kstuk esa jkek;.k 

lfdZV ds rgr 9 jkT;ksa ds 15 u, LFkkuksa dks 

fpfÉr fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 54.	^vkWijs'ku ladYi* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bl vkWijs'ku ds rgr] Hkkjrh; ukSlsuk us nf{k.kh 

phu lkxj esa ;q¼iksr rSukr fd;s gSa] ftudk eq[; 

mn~ns'; bl {ks=k esa ekStwn vkSj ogk¡ ls xq”kjus 

okys Hkkjrh; iksrksa dh lqj{kk lqfuf'pr djuk gSA

	 2.	 INS psUubZ vkSj INS lqu;uk dks leqnzh lqj{kk 

vfHk;ku ds fy;s vkseku dh [kkM+h vkSj iQkjl 

dh [kkM+h esa rSukr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1] u gh 2

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 52.	 Which of the following statements is not correct 
in the context of ‘Grey Wolf’:

	 (a)	 ‘Grey wolf’ is the largest species of wild 
cats in this world.

	 (b)	 It is highly intelligent and social animal 
found in the Northern Hemisphere.

	 (c)	 It has been Put in Least concerned category 
under Red List by IUCN.

	 (d)	 This is a monogamous species that live in  
dense group for habitation and breeding.  

	 53.	 Consider  the following statements in the context 
of  ‘Swadesh Darshan Scheme’:

	 1. 	This was started by ministry of Tourism, 
Government of India in January 2018.

	 2.	 The objective of this scheme is to establish 
India as a global brand and a world class 
tourism destination by establishing tourism 
as a carrier of economic growth and 
employment generation.

	 3.	 The central government has identified 
15 new locations in 9 states under the 
Ramayana Circuit in the Swadesh Darshan 
Scheme.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b) 	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 54.	 Consider  the following statements in the context 
of  ‘Operation Sankalp’:

	 1.	 As part of this operation, the Indian Navy 
has deployed warships in the South China 
Sea, which main objective is to ensure the 
safety of Indian ships present in and passing 
through the region. 

	 2.	 INS Chennai and INS Sunayna have 
been deployed in the  Gulf of  Oman and 
the Persian Gulf for maritime security 
operations.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 55.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (bZ&lsok,¡)		 (fo'ks"krk)

	 1.	meax 	 & 	 ljdkjh lsok,¡ miyCèk djkus 
okyk eksckby ,iA

	 2.	Lo;a 	 & 	 eSflo vkWuykbu vksiu dkslZ 
IysViQkWeZA

	 3.	bZ&uSe 	 & 	 16 jkT;ksa vkSj 2 dsanz'kkflr 
izns'kksa esa 585 Ñf"k eafM;ksa 
dk leUo;A

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 56.	^dksjy Vªk,axy* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g fo'o dh lcls vfèkd izoky fofoèkrk okyk 

{ks=k gSA

	 2.	 ;g baMksusf'k;k] eysf'k;k rFkk fiQyhihal lfgr 
rhu ns'kkas esa iQSyk gqvk gSA

	 3.	 dksjy Vªk,axy Hkkjrh; vkSj iz'kkar egklkxj ds 
chp fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 57.	;wthlh us gky gh esa ubZ igy ^Ldhe iQkWj Vªkal& 

fMflfIyujh fjlpZ iQkWj bafM;k”k Msoyfiax bdkWueh* 
(STRIDE) dh ?kks"k.kk dh gSA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g mu vuqlaèkku ifj;kstukvksa dks lgk;rk iznku 
djsxh] tks lkekftd :i ls izklafxd gksaxhA

	 2.	 bl ;kstuk ls Hkkjrh; Hkk"kkvksa vkSj Kku iz.kkfy;ksa 
ds {ks=k esa xq.koÙkk;qDr vuqlaèkkuksa dks Hkh c<+kok 
feysxkA

	 3.	 bl ;kstuk dk eq[; mn~ns'; Hkkjr dh fodkl'khy 
vFkZO;oLFkk vkSj jk"Vªh; fodkl gsrq ^Vªkal& 
fMflfIyujh fjlpZ* dks c<+kok nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 58.	^fo'ofo|ky; vuqnku vk;ksx* ds lanHkZ esa fuEufyf[kr 

esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 bldh LFkkiuk o"kZ 1952 esa tokgjyky usg: 
}kjk dh xbZA

	 (b)	 bldk eq[;ky; ns'k dh jktèkkuh ubZ fnYyh esa 
gSA

	 55.	 Consider the following  pairs:
		  (E-Services)		  (Characteristics)
	 1.	 Umang	 -	 A mobile app providing 

government services.
	 2.	 Swayam	 -	 Massive online open course 

platform.
	 3.	 E-NAM	 -	 Coordination of 585 

agricultural markets in 16  
states and 2 union territories.        

		  Which of the pair(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 56.	 With reference to ‘Coral Triangle’ consider the 
following statements:

	 1.	 It is the world’s most coral diversity region.  
	 2.	 It has been spreaded over three countries 

including Indonesia, Malaysia and the 
Philippines.  

	 3.	 The Coral Triangle lies between the Indian 
and Pacific Ocean. 

		  Which of the statement(s) given above is/are 
correct?  

	 (a)	 1 only 	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 57.	 The UGC has recently announced a new initiative 
‘Scheme for Trans - Disciplinary Research for 
India's Developing Economy (STRIDE)’.  Consider 
the following statements in this context: 

	 1.	 It will support those research projects which 
are socially relevant.

	 2.	 This scheme will also promote quality 
research in the field of Indian languages and 
knowledge systems.  

	 3.	 The main objective of this scheme is to 
promote 'Trans Discipline Research' for 
India’s developing economy and national 
development. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 1 and 2  only
	 (c)	 2 and 3  only	 (d)	 1, 2 and 3 

	 58.	 Which of the following statements is not correct 
with reference to 'University Grants Commission'? 

	 (a)	 It was founded in the year 1952 by Jawaharlal 
Nehru.  

	 (b)	 It’s headquarter is in the country's capital 
New Delhi.
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	 (c)	 ;g o"kZ 1956 esa laln ds vfèkfu;e }kjk LFkkfir 
,d Lok;Ùk laxBu gSA

 	 (d)	 blds Ng {ks=kh; dk;kZy; iq.ks] Hkksiky] dksydkrk] 
gSnjkckn] xqokgkVh ,oa caxyw: esa gSaA

	 59.	^ekWMy fdjk,nkjh vfèkfu;e] 2019* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl vfèkfu;e ds izk:i esa fdjk, ds edkuksa esa 
o`f¼] bl {ks=k esa fuos'k] m|e ds volj rFkk 
LFkku lk>k djus dh uokpkjh O;oLFkk ds 
izksRlkgu ij cy fn;k x;k gSA

	 2.	 ;g ekWMy vfèkfu;e dsoy 'kgjh {ks=kksa esa ykxw 
gksxkA

	 3.	 bl vfèkfu;e ds ykxw gksus ds ckn dksbZ Hkh 
O;fDr fyf[kr le>kSrk fd;s fcuk u rks ifjlj@
vkokl dks fdjk, ij ns ldrk gS vkSj u dksbZ 
fdjk, ij ys ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1, 2 vkSj 3
	 60.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ljdkj us fo'ofo|ky; Lrj dh ikB~;iqLrdksa 
dks lafoèkku dh vkBoha vuqlwph esa mifLFkr 
lHkh 22 Hkk"kkvksa esa vuqokn djus rFkk izdkf'kr 
djus dh ?kks"k.kk dh gSA

	 2.	 jk"Vªh; vuqokn fe'ku dks eSlwj fLFkr dsanzh; 
Hkkjrh; Hkk"kk laLFkku ds ekè;e ls dk;kZfUor 
fd;k tk jgk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1] u gh 2
	 61.	^dsanzh; Hkkjrh; Hkk"kk laLFkku* ds lanHkZ esa fuEufyf[kr 

esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 ;g ekuo lalkèku fodkl ea=kky; dk ,d 
vèkhuLFk dk;kZy; gSA

	 (b)	 bldh LFkkiuk o"kZ 1969 esa dh xbZ FkhA

	 (c)	 ;g laLFkku ukxiqj esa fLFkr gSA

 	 (d)	 ;g Hkkjr ljdkj dh Hkk"kk uhfr rS;kj djus ,oa 
blds dk;kZUo;u esa lgk;rk djrk gSA

	 (c)	 It is an autonomous organization established 
by the Act of Parliament in the year 1956. 

	 (d)	 It has six regional offices at Pune, Bhopal, 
Kolkata, Hyderabad, Guwahati and 
Bangalore.

	 59.	 With reference to the 'Model Tenancy Act, 2019' 
consider the following statements:

	 1. 	The draft of this act emphasizes the 
increase in rented houses, investment in this 
area, opportunities for enterprise and the 
promotion of innovative system of sharing 
of space.

	 2.	 This model act will be applicable only in 
urban areas.  

	 3.	 After the enactment of this Act, no person 
can give or take rent any premises / 
accommodation without written agreement.  

		  Which of the statement(s) given above is/are not 
correct?  

	 (a)	 1 only  
	 (b)	 2  only
	 (c)	 2 and 3 only 
	 (d)	 1, 2 and 3

	 60.	 Consider the following statements: 
	 1.	 The government has announced to translate 

and publish university-level textbooks in 
all the 22 languages present in the eighth 
schedule of the constitution. 

	 2.	 National Translation Mission is being 
implemented through Central Indian 
Language Institute, Mysore. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2 
	 (d) 	Neither 1, nor 2 

	 61.	 Which of the following statements is not correct 
with reference to ‘Central Indian Language 
Institute’?  

	 (a)	 It is a subordinate office of the Ministry of 
Human Resource Development.  

	 (b)	 It was established in the year 1969.  
	 (c)	 This institute is located in Nagpur. 
	 (d)	 It helps in the preparation and imple-

mentation of the language policy of the 
Government of India.
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	 62.	^ctV 2019–20* ds varxZr vkxkeh n'kd ds fy;s 10 
y{;ksa dh ifjdYiuk dh xbZ gSA bl ifjdYiuk esa 
'kkfey gSa%

	 1.	 ekSfyd vkSj lkekftd volajpuk dk fuekZ.kA

	 2.	 iznw"k.k eqDr HkkjrA

	 3.	 [kk|kUuksa ds ekeys esa vkRefuHkZjrk vkSj fu;kZrA

	 4.	 uhyh vFkZO;oLFkkA

	 5.	 ty] ty izcaèku vkSj LoPN ufn;k¡A

	 6.	 fMftVy bafM;k dks vFkZO;oLFkk ds izR;sd {ks=k 
rd igq¡pkukA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3, 5 vkSj 6

	 (c)	 dsoy 2, 4, 5 vkSj 6 	(d)	 1, 2, 3, 4, 5 vkSj 6
	63.	laln ds ekulwu l=k esa] ljdkj us csjks”kxkjh ls lacafèkr 

o"kZ 2017–18 ds vkofèkd Je cy losZ{k.k ds vk¡dM+s 
izLrqr fd;sA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bl fjiksVZ ds vuqlkj ns'k esa ukxkySaM esa csjks”kxkjh 
nj lcls vfèkd gS] tcfd es?kky; esa lcls 
de  gSA

	 2.	 lokZfèkd csjks”kxkjh esa nwljk vkSj rhljk LFkku 
Øe'k% fcgkj ,oa eè; izns'k dk gSA

	 3.	 efgyk csjks”kxkjh esa izFke LFkku mÙkj izns'k dk  gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 64.	^,DokdYpj iz.kkyh* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl iz.kkyh ds rgr] tyh; tarqvksa] tSls& eNyh 
,oa eksyLd ds fodkl] Ñf=ke iztuu rFkk laxzg.k 
dk dk;Z fd;k tkrk gSA

	 2.	 ,DokdYpj ,d gh iztkfr ds tarqvksa dh cM+h 
ek=kk] muds ek¡l ;k mi&mRiknksa ds mRiknu esa 
l{ke cukrk gSA

	 3.	 bl iz.kkyh ds rgr] ,d izkÑfrd ;k Ñf=ke 
>hy] rk”ks ikuh ds rkykc ;k leqnz esa mi;qDr 
rduhd vkSj midj.kksa dh vko';drk gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1, 2 vkSj 3

	 62.	 The 'Budget 2019-20' envisages 10 goals for the 
coming decade.  This hypothesis includes:

	 1.	 Building basic and social infrastructure.
	 2.	 Pollution free India.
	 3.  	Self-sufficiency and export in case of food 

grains.
	 4.	 Blue Economy.
	 5.  	Water, water management and clean rivers.
	 6.  	Digital India reaching every sector of the 

economy.

		  Code:
	 (a)	 1 and 2  only	 (b)	 3, 5 and 6  only
	 (c)	 2, 4, 5 and 6 only	 (d)	 1, 2, 3, 4,  5 and 6

	 63.	 In the Monsoon Session of Parliament, the 
government presented the statistics of periodic 
labour force survey for the year 2017-18 related 
to unemployment.  Consider the following 
statements in this context: 

	 1.	 According to this report, Nagaland has the 
highest unemployment rate in the country, 
while Meghalaya has the lowest. 

	 2.	 Bihar and Madhya Pradesh have the second 
and third place in the highest unemployment 
respectively. 

	 3.	 Uttar Pradesh ranks first in female 
unemployment.

		  Which of the statement(s) given above is/are 
correct?

	  (a)	 1 only 	 (b)	 1 and 2 only
	  (c)	 2 and 3 only	  (d)	 1, 2 and 3

	 64. 	With reference to ‘Aquaculture System’ consider 
the following statements:

	  1.	 Under this system, the work related to the 
development, artificial breeding and storage 
of aquatic animals such as fish and molluscs 
are carried out. 

 	 2.	 Aquaculture enables the production of large 
quantities of animals of the same species, 
their meat or by-products.

	   3.	 Under this system, a natural or artificial lake, 
freshwater pond or sea requires appropriate 
technology and equipment. 

		  Which of the statement(s) given above is/are correct?  
	 (a)	 1 only 
	 (b)	 1 and 2 only
	  (c)	 2 and 3 only
 	 (d)	 1, 2 and 3
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	 65.	^jk"Vªh; eèkqeD[kh cksMZ* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g Ñf"k vkSj fdlku dY;k.k ea=kky; ds varxZr 
dk;Zjr~ laLFkku gSA

	 2.	 ;g lkslk;Vh vfèkfu;e] 1860 ds rgr lwphc¼ 
laLFkku gSA

	 3.	 ;g Ñ"kdksa dks ^y?kq Ñ"kd Ñf"k O;olk; 
dalksfVZ;e (SFAC)* ds ekè;e ls cht miyCèk 
djokrk gSA

	 4.	 jk"Vªh; eèkqeD[kh cksMZ dks jk"Vªh; ckxckuh fe'ku 
ds ”kfj;s foÙk dh izkfIr gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	 1, 2, 3 vkSj 4
	 (c)	 dsoy 3 vkSj 4 	 (d)	 dsoy 1 vkSj 2
	 66.	^lacafèkr ikVhZ ysu&nsu* (vkj-ih-Vh-) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 lacafèkr ikVhZ ysu&nsu dk vfHkizk; mu ysu&nsuksa 

ls gS] tks daiuh }kjk Lo;a ls gh lacafèkr fdlh 
vU; ikVhZ ds lkFk fd;s tkrs gSaA

	 2.	 fdlh Hkh lacafèkr ikVhZ ysu&nsu dks iwjk djus 
ds fy;s daiuh ds funs'kd eaMy vkSj vads{kd 
lfefr ls ea”kwjh ysuh vko';d gksrh gSA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 67.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ^izèkkuea=kh fdlku laink ;kstuk* (ih,eds,lokbZ) 

ds varxZr o"kZ 2020 rd 5 yk[k ls vfèkd 
izR;{k vkSj vizR;{k jks”kxkj ds l`tu dh 
ifjdYiuk dh xbZ gSA

	 2.	 dsanzh; [kk| izlaLdj.k ea=kky; us ewY;  Ük`a[kyk 
ds ,dhÑr fodkl ds fy;s 500 djksM+ #i, 
dh ykxr ls ,d ubZ dsanzh; {ks=kd ;kstuk 
^vkWijs'ku xzhUl* izkjaHk dh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 68.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr us o"kZ 2019 esa la;qDr jk"Vª dh fiQfyLrhu 

'kj.kkFkhZ ,tsalh dks 5 fefy;u vesfjdh MkWyj 
dk ;ksxnku nsus dh is'kd'k dh gSA

	 2.	 Hkkjr o"kZ 1974 esa fiQfyLrhu dks ekU;rk nsus 
okyk ;w,l, ds ckn nwljk xSj&bLykfed jk"Vª  FkkA

	 3.	 Hkkjr us ;w,u esa fiQfyLrhu dh iw.kZ lnL;rk 
vkSj ;s:'kye dks jktèkkuh cukus lacaèkh izLrkoksa 
dk lnSo leFkZu fd;k gSA

	 65.	 With reference to 'National Bee Board', consider 
the following statements:

	  1.	 It is an institute functioning under the 
Ministry of Agriculture and Farmers 
Welfare.  

	 2.	 It is an institution listed under the Societies 
Act, 1860.

	   3.	 It provides seeds to farmers through the 
'Small Farmers Agribusiness Consortium 
(SFAC)'. 

	  4.	 The National Bee Board receives finance 
through the National Horticulture Mission.  

		  Which of the statement given above are correct? 
	  (a)	 1, 2 and 3 only	 (b)	 1, 2, 3 and 4
	 (c)	 3 and 4 only	 (d)	 1 and 2 only
	 66.	 With reference to 'Related Party Transactions' 

(RPT), consider the following statements: 
	 1.	 Related Party Transactions means those 

transactions that are done by the company 
with another party related to itself.  

	 2.	 It is necessary to get approval from the 
Board of Directors and Auditor's Committee 
of the company to complete any related 
party transaction.

		  Which of the statement(s) given above is/are 
correct?  

	 (a) 	1 only  	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 
	 67. 	Consider the following statements:
	 1.	 The 'Pradhan Mantri Kisan Sampada Yojana' 

(PMKSY) envisages creation of more than 
5 lakh direct and indirect jobs by the year 
2020. 

	 2.	 Union Ministry of Food Processing has 
implemented a central sector scheme 
'Operation Greens' at a cost of Rs 500 crore 
for integrated development of the value 
chain.

		  Which of the statement(s) given above is / are 
correct? 

	 (a)	 1 only  	 (b)	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 
	 68.	  Consider the following statements: 
	 1.	 India has offered to contribute US $5 million 

to the Palestine Refugee Agency of United 
Nations in the year 2019.

	 2.	 India was the second non-Islamic nation 
after USA to give recognition Palestine in 
the year 1974.  

	 3.	 India has always supported full membership 
of Palestine in the UN and proposals to 
make Jerusalem the capital. 
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 

	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 2 

	 (d)	 1, 2 vkSj 3
	 69.	^CykWdpsu rduhdh* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 CykWdpsu rduhdh ih;j&Vw&ih;j usVodZ esa lHkh 
izdkj ds foÙkh; ysu&nsu vkèkkfjr ,d fodsanzhÑr 
[kkrk gSA

	 2.	 bl rduhdh dk bLrseky djus okys lgHkkxh 
O;fDr fcuk fdlh dsanzh; izkfèkÑr izkfèkdj.k ds 
foÙkh; ysu&nsu dj ldrs gSaA

	 3.	 bl rduhdh dks eq[; :i ls iQaM VªkaliQj] 
O;kikj O;oLFkk] oksfVax rFkk vU; izdkj ds {ks=kksa 
esa bLrseky fd;k tk ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1, 2 vkSj 3
	 70.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls xzqi&20 lEesyu 

ds lanHkZ esa lgh gS@gSa\
	 1.	 ;g fo'o dh lcls cM+h vkSj rhoz xfr ls fodkl 

djus okyh vFkZO;oLFkk okys ns'kksa ds jk"Vªkè;{kksa 
ds eè; izfro"kZ gksus okyh ,d cSBd gSA

	 2.	 blds lnL; ns'kksa dh fo'o thMhih esa 85% 
dh fgLlsnkjh gS rFkk fo'o dh rdjhcu 2/3 
vkcknh ;gk¡ fuokl djrh gSA

	 3.	 bl f'k[kj lEesyu dks vkSipkfjd :i ls ¶foÙkh; 
ck”kkjksa vkSj fo'o vFkZO;oLFkk ds lEesyu¸ ds 
:i esa tkuk tkrk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	71.	^baVjus'kuy dksVZ vkWiQ tfLVl (vkbZlhts)* ds lanHkZ 

esa fuEufyf[kr esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 bldh LFkkiuk o"kZ 1948 esa dh xbZ FkhA

	 (b)	 bls la;qDr jk"Vª ds izèkku U;kf;d vax ds :i 
esa LFkkfir fd;k x;k FkkA

	 (c)	 bldh LFkkiuk ijekusaV dksVZ vkWiQ tfLVl ds 
LFkku ij dh xbZ FkhA

 	 (d)	 Hkkjr vkbZlhts dk laLFkkid lnL; ns'k gSA

		  Which of the statement(s) given above is / are not 
correct? 

	 (a) 	1  only
	 (b)	 2 only
	 (c) 	1 and 2 only
	 (d)	 1, 2 and 3

	 69.	 Consider the following statements in the context 
of ‘Blockchain Technology’:

	 1.	 Blockchain technology is a decentralized 
account based on all types of financial 
transactions in peer-to-peer networks. 

	 2.	 Participants using this technology can 
conduct financial transactions without any 
centrally authorized authority. 

	 3.	 This technology is mainly focused on fund 
transfer, business arrangement, voting and 
other types of fields.

		  Which of the statement(s) given above is/are 
correct?  

	 (a) 	1 only 
 	 (b)	 1 and 2 only
	 (c) 	2 and 3 only
	 (d) 	1, 2 and 3

	 70.	 Which of the following statement(s) is / are correct 
in the context of the Group-20 summit?

	 1. 	It is a summit held annually among the 
heads of countries of the world’s largest and  
fastest growing economies.

	 2. 	It’s member countries have partnership of 
85% in the world GDP and about 2/3 of the 
world's population resides here.  

	 3.	 This summit Ideologically known as the 
“Conference of Financial Markets and the 
World Economy.”

		  Code:
	 (a) 	1  only	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 71.	 With reference to International Court of Justice 
(ICJ), which of the following statement is not 
correct? 

	 (a)	 It was established in the year 1948. 
	 (b)	 It was established as the principal judicial 

body of the United Nations.
	 (c)	 It was established in the place of the 

Permanent Court of Justice. 
	 (d)	 India is the founding member country of the 

ICJ. 
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	 72.	gky gh esa Hkkjrh; fj”koZ cSad }kjk fcey tkyku dh 
vè;{krk esa 6 lnL;h; fo'ks"kK lfefr dk xBu 
fuEufyf[kr esa ls fdl mn~ns'; gsrq fd;k x;k gS\

	 (a)	 vkjf{kr dks"k ds mfpr vkdkj ds ckjs esa lq>ko 
nsus ds fy;sA

	 (b)	 vFkZO;oLFkk dh lqLrh nwj djus vkSj jks”kxkj c<+kus 
ds lq>ko ds fy;sA

	 (c)	 lkoZtfud forj.k iz.kkyh ds rgr dsanzh; fuxZe 
ewY; fuèkkZj.k gsrqA

 	 (d)	 mi;qZDr esa ls dksbZ ughaA
	 73.	gky gh esa] Hkkjrh; vkSj vkWLVªsfy;kbZ oSKkfudksa us 

fl”kksÚsfu;k ls lacafèkr ,d u, thu ^NAPRT 1* dh 
igpku dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g thu fl”kksÚsfu;k jksfx;ksa ds ,d cM+s thuksfed 
MsVklsV esa foVkfeu ch3 p;kip; esa 'kkfey ,d 
,a”kkbe dk dwVys[ku djrk gSA

	 2.	 fl”kksÚsfu;k ,d ekufld fodkj gS] tks jksxh dh 
lksp] Hkk"kk] O;ogkj] èkkj.kk rFkk Hkkouk dks cgqr 
vfèkd izHkkfor djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	74.	^fo'o ekSle foKku laxBu* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g ,d varj ljdkjh laxBu gS] ftls 23 ekpZ] 

1950 dks ekSle foKku laxBu vfHkle; ds 
vuqeksnu }kjk LFkkfir fd;k x;k FkkA

	 2.	 bl laxBu esa 191 lnL; ns'k gSa rFkk bldk 
eq[;ky; ftusok esa gSA

	 3.	 izfro"kZ 5 twu dks fo'o ekSle fnol euk;k 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	 75.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr ds ekSle foHkkx us eSnkuh {ks=kksa esa 40 fMxzh 

lsfYl;l vkSj igkM+h {ks=kksa esa 30 fMxzh lsfYl;l 
rkieku dks ghV oso ds ekud ds :i esa fuèkkZfjr 
fd;k gSA

	 2.	 tgk¡ lkekU; rkieku 40 fMxzh lsfYl;l ls vfèkd 
jgrk gS] ogk¡ ij 6 fMxzh lsfYl;l ls vfèkd 
rkieku c<+us ij xaHkhj ghVj oso dh ?kVuk,¡ 
gksrh gSaA

	 72.	 Recently, six member expert committee headed by 
Bimal Jalan has been set up by the Reserve Bank 
of India for which of the following purpose? 

	 (a)	 To suggest about the appropriate size of 
reserve fund. 

	 (b)	 For the suggestion to overcome from 
slowing down the economy and increasing 
employment.

	 (c)	 For the determination of central issue 
pricing under Public Distribution System. 

	 (d)	 None of the above.

	 73.	 Recently, Indian and Australian scientists have 
identified a new gene 'NAPRT1' related to 
schizophrenia. Consider the following statements 
in this context:

	 1.	 This gene encodes an enzyme involved in 
vitamin B3 metabolism in a large genomic 
dataset of schizophrenia patients.

	 2.	 Schizophrenia is a mental disorder, that 
greatly affects the patient’s thinking, 
language, behaviour, perception and 
emotion.

		  Which of the statement(s) given above is/are 
correct?  

	 (a) 	1 only 	 (b) 	 2 only
	 (c)	 Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 74.	 With reference to 'World Meteorological 
Organization', consider the following statements:

	 1.	 It is an inter-governmental organization, 
established on 23rd March, 1950 with 
the approval of the Convention on 
Meteorological Organization.

	 2. 	The organization has 191 member countries 
and its headquarter is in Geneva. 

	 3.	 World Weather Day is celebrated every year 
on 5 June.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b)	 1 and 2 only
	 (c) 	3 only 	 (d) 	 1, 2 and 3 

	 75. 	Consider the following statements: 
	 1.	 The Meteorological Department of India 

has set temperature of 40° C in the plains 
and 30° C in the mountainous areas as the 
standard for heat wave.  

	 2. 	Where normal temperature remains above 
40° C, there severe heat wave events occur 
when temperature exceeds above 6°C. 
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 76.	gky gh esa] vesfjdh fons'k foHkkx us ekuo rLdjh ij 

o"kZ 2019 dh ^VªSfiQfdax bu ilZUl* fjiksVZ tkjh dhA 
bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fjiksVZ ds vuqlkj] fo'o esa Je ,oa ;kSu vijkèk 
ds fy;s fd;s tkus okyh ekuo rLdjh ls yxHkx 
25 fefy;u o;Ld rFkk cPps ihfM+r gSaA

	 2.	 fjiksVZ esa Hkkjr esa rLdjh ls lacafèkr naM lafgrk 
dh èkkjk 370 esa la'kksèku fd;s tkus dh fliQkfj'k 
dh xbZ gSA

	 3.	 bl fjiksVZ esa Hkkjr dks fV;j&3 Js.kh esa 'kkfey 
fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 77.	^n bafM;k lks'ky MsoyiesaV fjiksVZ& 2018* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fjiksVZ 7 [kaMksa eas foHkkftr gS] ftlesa dqy 
22 'kksèk&i=k 'kkfey gSaA

	 2.	 ;g fjiksVZ vkfFkZd le`f¼ ,oa lkekftd fodkl 
ds eè; c<+rs varjky vkSj vlekurk ds lkekftd 
izHkkoksa ij tkjh dh xbZ gSA

	 3.	 fjiksVZ dk laiknu Ñf"k ykxr vkSj ewY; vk;ksx 
ds iwoZ vè;{k Vh- gd ,oa Ldwy vkWiQ lks'ky 
lkbalst ds iwoZ Mhu ujflag jsM~Mh }kjk fd;k 
x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 78.	gky gh esa uhfr vk;ksx }kjk tkjh jkT; LokLF; lwpdkad 

ds nwljs laLdj.k esa lcls LoLFk jkT; ds :i esa 'kh"kZ 
LFkku ij dkfct dkSu&lk jkT; gS\

	 (a)	 dsjy	 (b)	 mÙkj izns'k

	 (c)	 iatkc 	 (d)	 xqtjkr
	 79.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;wusLdks dh fo'o èkjksgj lfefr ds 43osa l=k esa 
t;iqj dks ;wusLdks dh fo'o èkjksgj LFky dh 
lwph esa 'kkfey fd;k x;k gSA

	 2.	 vgenkckn ds ckn t;iqj 'kgj ns'k dk nwljk 
'kgj cu x;k gS ftls lkaLÑfrd LFky ds :i 
esa ekU;rk izkIr gqbZ gSA

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 

	 76.	 Recently, the US State Department released the 
‘Trafficking in Persons’ Report on human 
trafficking for the year 2019, consider the following 
statements in this context: 

	 1. 	According to the report, around 25 million 
adults and children are suffering from 
human trafficking and for sexual offenses in 
the world. 

	 2.	 The report recommends to amend Section 
370 of the Penal Code relating to trafficking 
in India. 

	 3.	 India has been included in the Tier-3 
category in this report. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only 	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 77.	 With reference to ‘The India Social Development 
Report - 2018’ consider the following statements: 

	 1.	 This report is divided into 7 sections, which 
include total of 22 research papers.

	 2.	 The report has been released on the growing 
gaps between economic prosperity and 
social development and on the social effects 
of inequality. 

	 3. 	Editing of the report was done by T. Haque, 
former chairman of the Commission 
on Agricultural Costs and Prices and 
Narasimha Reddy the dean of School of 
Social Sciences. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only 	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3 

	 78.	 Which state occupied the top position as the 
healthiest state in the second edition of the state 
health index recently released by NITI Aayog? 

	 (a) 	Kerala 	 (b) 	 Uttar Pradesh 
	 (c) 	Punjab 	 (d) 	 Gujarat

	 79.	 Consider the following statements:
	 1. 	Jaipur has been included in the list of 

UNESCO World Heritage Sites in the 
43rd session of UNESCO World Heritage 
committee.

	 2. 	Jaipur city has become the second city in the 
country after Ahmedabad to be recognised 
as a cultural site.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	80.	^vejkorh dyk 'kSyh* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl dyk dks igys lkrokgu oa'k ds 'kkldksa 
rFkk ckn esa b{okdqvksa us laj{k.k fn;kA

	 2.	 bl dyk eas lkexzh ds :i esa fof'k"V liQsn 
laxejej dk mi;ksx fd;k tkrk FkkA

	 3.	 vejkorh dh ewfrZ;ksa esa ekuo] i'kq vkSj iq"i 
fp=kksa esa xaHkhj rFkk 'kkar izÑfrokn ds lkFk mxzrk 
,oa ÅtkZ dh Hkkouk iznf'kZr gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	81.	^panz;ku&2 fe'ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bldk iz{ksi.k GSLV ekdZ&III dh lgk;rk ls 
fd;k x;k gSA

	 2.	 blesa bljks }kjk Lons'kh rduhd dk mi;ksx fd;k 
x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1] u gh 2
	82.	uklk ds Vªkaf”kfVax ,DlksIySusV losZ lSVsykbV (VhbZ,l,l) 

}kjk gky esa [kksts x, rhu xzgksa ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 rhukas xzg (L98-59b, L98-59c vkSj L98-59d) 
de rkieku okys ,d u”knhdh rkjs dh ifjØek 
djrs gSaA

	 2.	 L98–59b xzg vkdkj esa eaxy ls cM+k] fdarq 
i`Foh ls NksVk gSA

	 3.	 bu xzgksa ds rkjksa (ftudh ifjØek ;s rhuksa xzg 
djrs gSa) dk nzO;eku lw;Z ds nzO;eku dk yxHkx 
,d&frgkbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2 

	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 80.	 With reference to 'Amravati art style' consider the 
following statements:

	 1. 	This art was patronized first by the rulers 
of the Satavahana dynasty and later by the 
Ikshvakus. 

	 2. 	Typical white marble was used as a material 
in this art. 

	 3.	 Human, animal and floral paintings in 
Amaravati sculptures display a sense of 
rage and energy with a serious and serene 
naturalism.

		  Which of the statement(s) given above is/are 
correct?  

	 (a) 	1 only	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3 

	 81.	 With reference to ‘Chandrayaan-2 Mission’ 
consider the following statements:

	 1.	 Its has been launched by GSLV Mark-III.  
	 2.	 Indigenous technology has been used by 

ISRO in it.  

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only 
	 (b) 	2 only
	 (c) 	Both 1 and 2
	 (d) 	Neither 1 nor 2

	 82.	 Consider the following statements with reference 
to the three recently discovered planets by NASA's 
Transiting Exoplanet Survey Satellite (TESS): 

	 1.	 The three planets (L98 - 59b, L98 - 59c 
and L98 - 59d) revolve a nearby star of low 
temperature.  

	 2.	 The planet L98 - 59b is larger than Mars but 
smaller than Earth in size. 

	 3.	 The mass of the stars of these planets (which 
is revolved by these three planets) is about 
one-third of the mass of the Sun. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 and 3 only
	 (b) 	2 and 3 only
	 (c) 	2 only
 	 (d) 	1, 2 and 3 
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	83.	bafM;u baLVhV~;wV vkWiQ ,LVªksfiQftDl ds fdl lkSj 
HkkSfrd foKkuh dks uklk }kjk iap&fe'ku ds lg&vUos"kd 
ds :i esa pquk x;k gS\

	 (a)	 nhikadj cuthZ

	 (b)	 MkW- ÚSad ch eSdMkWuYM~l

	 (c)	 MkW- uks,y fgulZ
 	 (d)	 MkW- Úk¡l , dksMksZok
	84.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 o"kZ 2005 esa iwoZ izèkkuea=kh vVy fcgkjh oktis;h 

}kjk panz;ku dk;ZozQe dh ?kks"k.kk dh xbZ FkhA

	 2.	 iap fe'ku lw;Z ds ckgjh dksjksuk ls lkSj gok 
d.kksa ds laØe.k dk vè;;u djus ij dsafnzr gSA

	 3.	 panz;ku&I dk iz{ksi.k o"kZ 2007 esa fd;k x;k 
FkkA

	 4.	 GSLV ekdZ& III bljks }kjk fodflr rhu pj.kksa 
okyk Hkkjr dk lcls 'kfDr'kkyh izekspd 
jkWdsV gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3

	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 2 vkSj 4

	 (d)	 1, 2, 3 vkSj 4
	85.	^lsYiQ ds;j baVjosa'ku* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g LokLF; ds izfr n{krk ,oa le> fodflr 

djus gsrq egÙoiw.kZ gSA

	 2.	 bl ij igyh ckj [kk| ,oa Ñf"k laxBu }kjk 
fn'kk&funsZ'k tkjh fd;s x, gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1] u gh 2
	86.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ,aFkzsDl ,d tkuysok laØked jksx gS] tks ,aFkzsfll 

thok.kqvksa ds laidZ esa vkus ls gksrk gSA

	 2.	 ,aFkszDl 'kjhj dh jksx izfrjksèkd {kerk dks {kfr 
igq¡pkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1] u gh 2

	 83.	 Which solar physicist of the Indian Institute of 
Astrophysics has been selected by NASA as a co-
investigator of the Panch-mission?

	 (a) 	Dipankar Banerjee 
	 (b) 	Dr. Frank B. McDonald 
	 (c)	 Dr. Noel Hinners 
	 (d)	 Dr. Frances A. Kordova 

	 84.	  Consider the following statements: 
	 1.	 In 2005, the Chandrayaan program was 

announced by the former Prime Minister 
Atal Bihari Vajpayee. 

	 2.	 The Panch Mission focuses on studying the 
transition of solar wind particles from the 
outer corona of the Sun. 

	 3.	 Chandrayaan-1 was launched in the year 
2007.

	 4.	 GSLV Mark -III is India’s most powerful 
rocket launcher developed by ISRO.

		  Which of the statements given above are correct? 
	 (a) 	1 and 3 only
	 (b) 	2, 3 and 4 only
	 (c) 	2 and 4 only
	 (d) 	1, 2, 3 and 4 

	 85.	 With reference to 'Self Care Intervention', consider 
the following statements: 

	 1.	 It is important to develop efficiency and 
understanding towards health. 

	 2. 	For the first time, guidelines have been 
issued on it by the Food and Agriculture 
Organization.  

		  Which of the statement(s) given above is/are not 
correct? 

	 (a)	 1 only 
	 (b)	 2 only
	 (c) 	Both 1 and 2 
	 (d) 	Neither 1 nor 2 

	 86.	 Consider the following statements: 
	 1. 	Anthrax is a deadly infectious disease 

caused by exposure to bacteria Anthrasis.
	 2.	 Anthrax damages the body's immunity. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only
	 (b) 	2 only
	 (c) 	Both 1 and 2 
	 (d) 	Neither 1 nor 2 
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	87.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 b”kjkby baLVhV~;wV vkWiQ VsDuksykWth ds oSKkfudksa 
}kjk ,d voèkkj.kk fodflr dh xbZ] ftls 
Hkkjrh; xf.krK jkekuqtu ds uke ij ^jkekuqtu 
e'khu* dk uke fn;k x;k gSA

	 2.	 ;g ,d dyu fofèk@,Yxksfjn~e gS] tks xf.kr ds 
fdlh fLFkjkad ds eku dks forr@Øekxr fHkUu 
esa ifjofrZr dj nsrh gS] ftldk eku ml fLFkjkad 
ds cjkcj gksrk gSA

	 3.	 Hkkjr esa Jhfuokl jkekuqtu dh Le`fr esa 22 
fnlacj dks ^jk"Vªh; xf.kr fnol* ds :i esa 
euk;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	88.	^ekuo ,Vyl igy* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bldks tSo izkS|ksfxdh foHkkx vkSj ,d tSo 
izkS|ksfxdh daiuh] iflZLVsaV flLVe }kjk 'kq: fd;k 
x;k gSA

	 2.	 blds varxZr] ekuo Årdksa vkSj vaxksa dh 
vk.kfod tkudkfj;k¡ izkIr dj mUgsa ,dhÑr 
fd;k tk,xk] tks orZeku esa fofHkUu 'kksèk&i=kksa 
esa vO;ofLFkr :i esa gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	89.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vks”kksu xSl lerkieaMy esa ,d lqj{kk dop ds 
:i esa ekStwn gksrh gS] tks lw;Z ls vkus okyh 
gkfudkjd ijkcSaxuh fdj.kksa ls i`Foh dh j{kk 
djrh gSA

	 2.	 {kksHkeaMy esa vks”kksu ekuo fufeZr dkjdksa] tSls& 
vkarfjd ngu batuksa] vkS|ksfxd mRltZu vkSj 
fctyh la;a=kksa ds dkj.k gksus okys ok;q iznw"k.k 
dk ifj.kke gSA

	 3.	 vks”kksu iznw"k.k dk lacaèk fupys ok;qeaMy 
({kksHkeaMy) esa vks”kksu xSl dh ekStwnxh ls gSA

	 4.	 lerki eaMy esa vks”kksu ijr dks gks jgh {kfr 
dks vks”kksu {kj.k ds :i esa tkuk tkrk gSA

	 	mi;qZDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 2 vkSj 4 	 (d)	 1, 2, 3 vkSj 4

	 87.	 Consider the following statements: 
	 1. 	A concept was developed by scientists of 

the Israel Institute of Technology, which is 
named ‘Ramanujan Machine’ in the name of 
Indian mathematician Ramanujan.  

	 2. 	It is an algorithm that converts the value of a 
constant of mathematics into a distributary/
ordinal fraction whose value is equal to the 
constant. 

	 3.	 In India, December 22 is celebrated as 
‘National Mathematics Day’ in memory of 
Srinivasa Ramanujan. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only	 (b) 	 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3 

	 88.	 With reference to the 'Human Atlas Initiative', 
consider the following statements: 

	 1. 		It was initiated by the Department of 
Biotechnology and a biotechnology 
company called Persistent System.

	 2. 	Under this, molecular information of human 
tissues and organs will be obtained and 
integrated, which is currently disorganized 
in the form of various research papers.

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 89.	 Consider the following statements: 
	 1.	 Ozone gas is present in the stratosphere as 

a protective shield, which protects the Earth 
from harmful ultraviolet rays coming from 
the Sun. 

	 2.	 Ozone in the troposphere is the result of air 
pollution caused by man-made factors, such 
as internal combustion engines, industrial 
emissions and power plants.  

	 3.	 Ozone pollution is related to the presence 
of ozone gas in the lower atmosphere 
(troposphere).

	 4.	 Damage to the ozone layer in the stratosphere 
is known as ozone depletion. 

		  Which of the statements given above are correct? 
	 (a) 	1 and 3 only	 (b) 	 2, 3 and 4 only
	 (c) 	2 and 4 only	 (d) 	 1, 2, 3 and 4 



27lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	90.	^tyok;q vkSj LoPN ok;q la?k (lhlh,lh)* ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fo'o ds 65 ns'kksa] 17 varj&ljdkjh laxBuksa] 
55 O;kolkf;d laxBuksa] oSKkfud laLFkkvksa vkSj 
dbZ ukxfjd lekt laxBuksa dh ,d LoSfPNd 
lk>snkjh gSA

	 2.	 Hkkjr blls tqM+us okyk fo'o dk 55ok¡ ns'k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	91.	^jk"Vªh; LoPN ok;q dk;ZØe* ds lanHkZ esa fuEufyf[kr 

esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 ;g ok;q iznw"k.k dh jksdFkke gsrq O;kid vkSj 
le;c¼ :i ls cuk;k x;k 7 o"khZ; dk;ZØe gSA

	 (b)	 bldk izeq[k y{; ok;q iznw"k.k dh jksdFkke fu;a=k.k 
vkSj mUewyu ds fy;s dk;Z djuk gSA

	 (c)	 blds rgr] jkT;ksa dks Hkh vkfFkZd lgk;rk nh 
tk,xhA

 	 (d)	 blds rgr] o"kZ 2017 dks vkèkkj o"kZ ekurs gq, 
ok;q esa ekStwn PM 2.5 vkSj PM 10 tSls iznw"kdksa 
dks 20 ls 30 iQhlnh rd de djus dk ̂ vuqekfur 
jk"Vªh; y{;* fuèkkZfjr fd;k x;k gSA

	92.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vkfl;ku ns'kksa }kjk leqnzh dpjs ls fuiVus gsrq 
,d lk>k :ijs[kk ^cSadkWd&?kks"k.kk* dk leFkZu 
fd;k x;k gSA

	 2.	 ;g lk>h j.kuhfr ds rgr bl izdkj dh igyh 
?kks"k.kk gS] ftlesa vkfl;ku usrkvksa us jk"Vªh; Lrj 
ij e”kcwr dkjZokbZ djus vkSj vkfl;ku ns'kksa ds 
chp lg;ksxkRed dne mBkus dh lgefr 
O;Dr dhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	93.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lhesaV mRiknu ls gksus okys dkcZu MkbvkWDlkbM 
mRltZu dk oSf'od dkcZu MkbvkWDlkbM mRltZu 
esa yxHkx 7% ;ksxnku gSA

	 2.	 ,d Vu lhesaV ds mRiknu ls yxHkx vkèkk Vu 
dkcZu MkbvkWDlkbM mRlftZr gksrh gSA

	 3.	 ft;ksikWyhej lhesaV dSfY'k;e vkSj flfydkWu dh 
ctk; ,Y;qehfu;e ,oa flfydkWu ls cukbZ 
tkrh gSA

	 90.	 With reference to 'Climate and Clean Air Coalition 
(CCAC)', consider the following statements: 

	 1.	 It is a voluntary partnership of 65 countries 
of the world, 17 inter-governmental 
organizations, 55 business organizations, 
scientific institutions and many civil society 
organizations. 

	 2.	 India is the 55th country of the world to 
join it.

		  Which of the statement(s) given above is/are not 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 

	 91.	 Which of the following statement is not correct in 
the context of ‘National Clean Air Programme’?

	 (a)	 It is comprehensive and time bound 7-year 
programme for the prevention of air-
pollution.

	 (b)	 It’s main goal is to work for the prevention, 
control and elimination of air pollution. 

	 (c)	 Under this, the states will also be given 
financial assistance. 

	 (d)	 Under this, considering the year 2017 as the 
base year, an ‘estimated national target’ has 
been set to reduce pollutants like PM 2.5 
and PM 10 present in the air by 20 to 30 
percent.

	 92. 	Consider the following statements: 
	 1.	 ‘The Bangkok Declaration’, a common 

framework for dealing with marine waste, 
has been endorsed by ASEAN countries.  

	 2.	 This is the first such declaration under a 
common strategy in which ASEAN leaders 
agreed to take strong action at the national 
level and take collaborative steps between 
ASEAN countries. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 

	 93.	 Consider the following statements:
	 1.	 The contribution of Carbon dioxide 

emissions from cement production is about 
7% of global carbon dioxide emissions.  

	 2. 	About half a tonne of carbon dioxide is 
emitted in the production of one tonne of 
cement.

	 3.	 Geopolymer cement is made of aluminium 
and silicon instead of calcium and silicon. 
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	94.	^ty'kfDr vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g Hkkjr ljdkj vkSj jkT; ljdkjksa ds fofHkUu 

ea=kky;ksa dk ,d lkewfgd iz;kl gSA

	 2.	 bldk mn~ns'; ty laj{k.k ,oa lqj{kk gSA

	 3.	 bldh 'kq#vkr 2 ebZ] 2019 ls dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	95.	^LekWy vkbySaM Msoyfiax LVsV~l& ,lvkbZMh,l* ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;s dSjsfc;u lkxj rFkk vVykafVd egklkxj] fgan 

,oa iz'kkar egklkxjksa ds }hiksa ij fLFkr ns'k gaSA

	 2.	 bu ns'kksa dh dqy la[;k 42 gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	96.	^uhyfxfj ck;ksLiQh;j fj”koZ* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g Hkkjr dk igyk ck;ksLiQh;j fj”koZ gSA

	 2.	 bldh LFkkiuk o"kZ 1982 esa dh xbZA

	 3.	 ;g dsjy] dukZVd ,oa vkaèkz izns'k ds dqN fgLlksa 

dks 'kkfey djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	97.	^us'kuy fjeksV lsaflax lsaVj* (,uvkj,llh) ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g Hkkjrh; varfj{k vuqlaèkku laxBu (bljks) 

ds rÙokoèkku esa dk;Z djrk gSA

	 2.	 ;g fjeksV lsaflax lSVsykbV ls MkVk dh izkfIr] 

mldk izlaLdj.k] forj.k vkSj vkink izcaèku esa 

lgk;rk gsrq f”kEesnkj gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

		  Which of the statement(s) given above is/are 
correct 

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2  and 3 

	 94.	 With reference to 'Jal Shakti Abhiyan', consider 
the following statements: 

	 1.	 It is a collective effort of various ministries 
of the Government of India and the State 
Government. 

	 2.	 Its purpose is water conservation and safety. 
	 3.	 It has been started from May 2, 2019. 

		  Which of the statement(s) given above is/are 
correct?  

	 (a)	 1 and 2 only	 (b) 	 2 only
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3 

	 95.	 With reference to ‘Small Island Developing 
States – SIDS’, consider the following statements: 

	 1.	 These are countries located on the islands of 
the Caribbean Sea and Atlantic Ocean, the 
Indian and Pacific Oceans. 

	 2.	 Total number of these countries are 42.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 96.	 With reference to ‘Nilgiri Biosphere Reserve’, 
consider the following statements:

	 1. 	It is the first biosphere reserve in India. 
	 2. 	It was established in the year 1982.  
	 3.	 It covers Kerala, Karnataka and parts of 

Andhra Pradesh.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d) 	 1, 2 and 3 

	 97.	 With reference to 'National Remote Sensing Center' 
(NRSC), consider the following statements:

	 1.	 It works under the aegis of Indian Space 
Research Organization (ISRO). 

	 2.	 It is responsible for data retrieval, 
processing, distribution and assistance in 
disaster management from remote sensing 
satellite. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2
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	 98.	 Consider the following statements:
	 1.	 ‘National Disaster Management Authority 

(NDMA)’ is formed under sub-sections 3 
and 4 of Section-14 of the National Disaster 
Management Act, 2005.  

	 2.	 ‘State Disaster Management Authority 
(SDMA)’ has been constituted by each state 
under sub-sections 5 and 6 of Section 3 of 
the Disaster Management Act, 2005.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 99.	 Consider the following statements: 
	 1.	 Sardar Sarovar Dam supplies water and 

electricity to only three states Rajasthan, 
Gujarat and Maharashtra.  

	 2. 	The Mullaperiyar Dam is owned and 
operated by the Government of Tamil Nadu. 

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	100. 	With reference to the provisions of the ‘Transgender 
Persons (Protection of Rights) Bill, 2019’, consider 
the following statements: 

	 1. 	Prohibit discrimination against a transgender 
person. 

	 2.	 To make provision for providing a 
methodology for social, economic and 
educational empowerment of transgender 
persons.  

	 3.	 To give such a person the right to be 
recognized as such. 

	 4.	 To ensure the provision of penalties in the 
context of violation of the provisions of the 
Bill.

		  Which of the statement(s) given above is/are 
correct?  

	 (a) 	1 only	 (b) 	 2 and 3 only
	 (c) 	4 only	 (d) 	 1, 2, 3 and 4

	98.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ^jk"Vªh; vkink izcaèku izkfèkdj.k (,uMh,e,)* 
dk xBu jk"Vªh; vkink izcaèku vfèkfu;e] 2005 
dh èkkjk&14 dh mièkkjk 3 vkSj 4 ds rgr fd;k 
x;k gSA

	 2.	 jkT; vkink izcaèku izkfèkdj.k (,lMh,e,) dk 
xBu izR;sd jkT; }kjk vkink izcaèku vfèkfu;e] 
2005 dh èkkjk&3 dh mièkkjk 5 vkSj 6 ds rgr 
fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	99.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ljnkj ljksoj ckaèk }kjk dsoy rhu jkT;ksa& 
jktLFkku] xqtjkr ,oa egkjk"Vª dks ty o fctyh 
dh vkiwfrZ dh tkrh gSA

	 2.	 eqYykisfj;kj ckaèk dk LokfeRo ,oa lapkyu 
rfeyukMq ljdkj ds gkFk esa gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	100.	^VªkaltsaMj O;fDr (vfèkdkjksa dh lqj{kk) foèks;d] 2019* 

ds izkoèkkuksa ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 VªkaltsaMj O;fDr ds fo#¼ foHksn dk izfr"ksèk 
djukA

	 2.	 VªkaltsaMj O;fDr;ksa ds lkekftd] vkfFkZd vkSj 
'kSf{kd l'kDrhdj.k gsrq ,d dk;Ziz.kkyh miyCèk 
djkus dk izkoèkku djukA

	 3.	 ,sls O;fDr dks ml :i esa ekU;rk nsus ds fy;s 
vfèkdkj iznku djukA

	 4.	 foèks;d ds micaèkksa dk mYya?ku djus ds lacaèk 
esa naM dk izkoèkku lqfuf'pr djukA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 4 	 (d)	 1, 2, 3 vkSj 4


